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The following table shows the percentage (%) distribution of viewers of JIO TV channel in five
different towns (A. B, C, D and E) alongwith the number of viewers who subscribed the channel
among them in the year 2023. Number of viewers in the town E is 1200. Based on the data in the
table, answer the questions that follow.

Town-wise Details of Channel Viewers

Town|Percentage Distribution of Channel Viewers [Number of Viewers who subscribed for the Channell
A 2% 440
B 15% 500
C |28% 880
D [23% 700
E 20% 360

Note: For each town, number of channel viewers is the sum of number of viewers who subscribed
for the channel and the number of viewers who did not subscribe for the channel.

Sub questions

Question Number : 1 Question Id : 34212310270 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of male unsubscribed viewers in Town-D is

200
3

% more than that of female

unsubscribed viewers, then what is the ratio of number of male unsubscribed viewers in Town-D
to the number of unsubscribed viewers in Town-A and Town-C together?

1. 23533
2.25: 54
3.T:29
4.2:3

Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 34212310271 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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If P is the total number of unsubscribed viewers in Town-B and Town-C together, and Q is the
number of subscribed viewers in Town-E, then Q is % less than P.

1. 65

(]

. 80

3. 60

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212310272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If out of the number of viewers from Town-C,

325 7
TT v, are female and T of the number of female

viewers are unsubscribed viewers, then the number of unsubscribed male viewers from Town-C
IS.

1. 340

]

. 360
3. 380

4.420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212310273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of unsubscribed viewers and subscribed viewers,
taking all the towns together?

1.320

(]

. 240

3. 340

4. 300

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 3/160
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Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212310274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If P is the total number of unsubscribed viewers in Town- B and Town-C together, and Q is the
number of unsubscribed viewers in town-E, then Q is % of P.

1. 60

]

.70
3.80

4.75

Options :
1.1
2.2
3.3
4.4

Question Id : 34212310269 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

g difeiaT § ©e [af8s 97RT (A, B, ¢, D3R E) # 2023 ¥ 51311 (710) €1 1 94¢ & G2l @l
U= (%) TR 3R 39 9-d & UIed GRP| bl BT G 718 ¢ | AR E H GRD| Bl W]
1200 8 | dIfeihT H Ued STeT & 3MTYR UR, 371 U 7U Ui & IR cifore:

T 2RB! B [aavu
TR[d-d GRId| &1 Uid=id [9dvl [(9d & Ue® GRId] &l S|
A [12% 130
B [15% 500
C 8% 880
D 5% 700
E 0% 360

feugufl: Ude TR & fIU, T Spl &1 WA 30 I & Ugh bl DT YT 3R I
GRId| DI W= B AT ¢ Sl 39 I-9d & AI6d ol ¢l

Sub questions

Question Number : 1 Question Id : 34212310270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gf¢ R D H UY Yo S| Dl WA, Sl Ag D -5l 5. 31 Afgdl Sl Dl Iy 22,

3

39 g, ol Uigh Al €. Al ¥R D H Ulgdh H gl-dic] U2 S| Bl WA BT 4R A 3R IR
¢ H fBcidr dgi & Uigd 9 giHdld a=id| &1 Y 3urd fbd-r g2

L2551 55

b2
[
A

154

4.2:3
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212310271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gf¢ TR B 3R R ¢ &I HAIH 981 & UH o=idi &1 Sl YA P g 3R TR EH UEH
D DI QR, APUQ % HHAGI

1. 65

2.80
3.60

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212310272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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G TR - ¢ P D] T UBH Y 220 A § SR Afeell P PIHBNHY - d ¢

7

UEdH ol o, dl TR - ¢ Y UGH - 9 G| Bl &I gl

1. 340

(]

. 360
3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212310273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ut TRI &I AR U8 7 94 a2 D 3R TP D! B T8 & dig P 3fdR fdod-1 g2

1.320

(]

. 240
3.340

4. 300

Options :
1. 1
2.2
3.3
4.4

Question Number : S Question Id : 34212310274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ R - B 3R TR - € Bl THAIGR 390 Ageh 7 IdIel GIbl B Hof TSP 3R TR -
E Y YIgdh H d4-dId GADI HI TBATQ 8, AP HI Q %ol

1. 60

2.70

3.80

4. 75
Options :
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1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123406
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212310275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The impaired memory for events occuring before the onset of amnesia is called as:-

1. Phonological loop

]

. Retrograde amnesia

LS

. Anterograde amnesia

4

. Visuospatial sketchpad

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212310275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA (TEHRED) & $RY g U Ud gfed 9131 o fou &1 g4t Wid Sl g -
. e oy

gyl Wiy (o)

. HETIRR WfTar (TH-TRET)
4. faSeiifRme Wwats

Options :
1.1
2.2
3.3
4.4

—

(]

5]

Question Number : 7 Question Id : 34212310276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What of the following aspects does not pertain to delibrate practice of learners?

1. The task is too easy or too hard

]

. The learner is given informative feed back about his/her performance

[975]

. The learner has adequate chances to repeat the task

4. The learner has the opportunity to correct his’her errors

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212310276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeiRad o © oi--91 ugd fRrandi & gfadnd sngrg o 48l 3i1dr g2
1. 98 BT UG S 3Ydl 9gd BHio g |
2. Rigelf &1 FUd f3red & IR © Ya-Ids Blsds fear i gl
3. TRl & Uy 7 1 SleH & Ui SaER ¢ |
4. e & gy sgl Ffeal &l goEd H3H & AW |

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212310277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-TT
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LISTI LISTII
Online Softwares/Tools Application
A | Trello 1. | Managing and analvzing social media campaigns
; Managing and recording_ fun built-in camera recording add effects and
B. |Hootsuite IL :
share in the groups
GitHub : ) .
C. Clic ot III. | Managing group projects and tasks
D. | Flipgnid IV. | Managing and writing coding assignments

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-II, D-I

(]

3. AL B-1, C-IV, D-II

4. A-1 B-1I, C-II1, D-IV

Options :
1. 1
2.2
3.3
4.4

. A-IIT, B-IV, C-II, D-I

Question Number : 8 Question Id : 34212310277 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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gET 1 Y gt 11 1 e Hifor

I
o '\Tﬁ, _— g1
IUHI)

A |feat L |oifRre Hitsar st &1 ydud ud fagemo s
" 3 " T feed-31 1 RISl &1 wee ud RepifEn &3 3R 38H
- |&¢ | gtheet Bl Sigek 3 THE H 9= B

. |Fireee wmEs 1L | g URAreHIl Td S141 Bl Hae= B0
D. |fUcufire V. |@If$T Fgderl & ue- ud oeH

i feu U fadmedl # 9 98t 3R &1 994 i
1. A-IV, B-III, C-II, D-I
2. A-II1, B-1IV, C-11, D-1
3. A-IIL B-1, C-IV, D-II

4. A-L, B-1I, C-1II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212310278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following channels of Swayam Prabha are under IGNOU, New Delhi?

A. Channel 4
B. Channel 7
C. Channel 15
D. Channel 12
E. Channel 20

Choose the correct answer from the options given below:

. A and E only

(]

.Cand D only
3.B.CandE only

4. A, B and D only

Options :
1.1
https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 9 Question Id : 34212310278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad § 9 Wy & 1Y 94 T ool a3 & sfarid g

A. T4
B. J9d 7
C. 994 15
D. 99d 12
E. 994 20

- feu Y fadett # ¥ Hel IR o1 99 S
1. hdd A SR E

. HIdC AR D

. Hdd B, C ARE

4. AT A, B 3R D

Options :
1.1
2.2
3.3
4.4

(]

LFS]

Question Number : 10 Question Id : 34212310279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following can be used as LMS to create and manage course content?

A. Moodle
B. Zoom

C. Edmodo
D. Canvas
E. Strawpoll

Choose the correct answer from the options given below:
1. B, D and E only
2. A, Cand D only
3. B, C and E only

4. A, B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212310279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad d 9 f6-a1 ureaadl o1 favgasd & Yo 3R YdtHd & 6 ud. tH. tg. & =0 o
T T dT ST Sl g2

A. Had

B. G{H

c. USHISI

D. a9

E. &

A feu U fadmedl § 9 |87 IR &1 994 i

|.$Had B, D 3N E

2. Had A, C 3R D

3. $Add B, C 3ARE

4. ®dd A, B3R D

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/160
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3.3
4.4

Question Number : 11 Question Id : 34212310280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, which of the following percentage of
similarity in the thesis would result in the cancellation of a student's registration in the
programme he/she is registered in?

1. 42%

(]

. 533%

5]
L]

3%

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212310280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ifecd IR & ey § fayfaenay e manT (el 9 am 2018 & 3R Y Uefe |
fAfeIRad & U fod= Uid=Id THH Uls S WR 3] B &1 Usiidhul 39 UM U IE 8l
ST, fore Ui # 98 ieiidd ¢

1. 42%

b3
L]
fad
=]
=

4. 61%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212310281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/160
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Which of the following types of sampling is likely to have least bias?

1. Snowball sampling

]

. Simple random sampling
3. Convenience sampling

4. Purposive sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212310281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeRad 9 ¥ " bR & Uidadd 1§ gadd Yaiug g &1 §H1a-1 gidl g
. bgd Ufd=d (JieTd fd=a)

—

]

IR glef=sd Ufdda-
. gfayreH s uidegq
4, gy Ufd=aq

Options :
1.1
2.2
3.3
4.4

LS

Question Number : 13 Question Id : 34212310282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct statements regarding survey research.

A. A closed ended question contains a set of answers that a respondent chooses
B. Self-Deception Positivity is a from of social desirability bias
C. Impression Management is a form of social desirability bias

D. In key informant sampling, a researcher uses a member of the population of interest to
actively recruit others

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3. A, BandDonly

4. A, C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212310282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gd&qur Y & Yoo 1 U HUHl bl UgdH DifsIu:

A. 3F R 9T U H IR &1 U gl g o SR a-arell 9-d1 |

B. H-dd HRIAD ], YIS Fig-1ad] Jaig BT U 8|

C. WHTd YU, GTieidh dig-iadl Jdivg & &4 ¢

D. WRE YdD Uidaa= H U Sl Sl b SHEe] & U Ha B 3&dqTd GaR|
DI Yl B & fau HRA1 3

- QU T fad el H ¥ Hg SR &I 991 BT
1. $acd A, B3R C
2. $ad B, C 3R D
3. %A A, B 3R D
4. Had A, C 3R D

Options :
1.1
2.2
3.3
4.4

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 15/160
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Question Number : 14 Question Id : 34212310283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order

A 37t percentile
B. first quartile
C. median

D. third decile

Choose the correct answer from the options given below:
L By E, D
2.B,D,A,C
3.B,C.AD

4.C,B,D. A

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212310283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFrafaRad gifegsia Al &l 9gd »H H sgaffid Sifr|

A. 37 91 IdHD
B. Ugdl 9qdd
C. HITHIHT

D. ORI GRH$

A1 6T U f[ddhedl # ¥ §T 3R &1 994 BIuIT:
1.AB, C.D
2.B,D,A, C
3.B,C,AD

4.C,B.D. A

Options :
1.1
2.2
3.3

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 16/160
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4.4

Question Number : 15 Question Id : 34212310284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

List I List IT
(n=number of trials p=probability of success)|(Variance of Binomial Distribution)
A |n=7p=03 I |144
B |[n=5p=04 Il |2.00
C. |n=8p=05 HI. | 120
D |n=6p=06 IV | 147

Choose the correct answer from the options given below:

1. A-1, B-1I, C-1II, D-1IV

]

. A-II, B-III, C-IV, D-1

3. A B-IV, C-I, D-II

4. A-1IV, B-1II, C-1II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212310284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gET 1 Y gt 11 1 e Hifor

.. . = 1

pzmaﬁuﬂﬁnm[a“”'mm'””

A In=7.p=03 I 1144
B |n=5p=04 IT. |2.00
C. |n=8p=05 I | 1.20
D |n=6p=06 IV. | 1.47

i feu 71U fasmetl H# 9 I8t IR &l 994 I
I. A-L B-II, C-TII, D-IV
2. A-IL B-IIL, C-IV, D-I
3. A-IIL, B-IV, C-L, DI

4. A-IV, B-II1. C-I1, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212310285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the post-information age, information is highly.

|. Homogeneous
2. Communitarian
3. Personalised

4. Impersonal

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212310285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR - AT T H YU AT
RIEIRIE

RLCRIRHCE
4. AAYIFD §

Options :

1.1

2.2

3.3
4.4

[a—

]

5]

Question Number : 17 Question Id : 34212310286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an information society, even nuclear families have the characteristic of technological

1. Separation

|

. Mediation

LS

. Constriction

4. Passivity

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212310286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%%ammmﬁﬂwﬁwwﬁiﬁﬁmm GANGEILG])
|

L. QTR
R

(]

3. g
4. AHHUIA

Options :
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1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212310287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A hot medium has the features of:

A. Pre-supposition of interaction

B. Providing large amounts of information
C. Little effort needed for interpretation
D. Less scope for participation

E. Immediate feedback

Choose the correct answer from the options given below:

1. A.B.Conly

(]

.C.D, E only
3.A,C,Donly

4.B,C, D only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212310287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frgfeiRag aream &1 Fefifad TP grd e

A. URERS bl &1 gaiaH

B. 5! O H YU U HRAM]

C. AR (HF0R) B P AU HH UM B DI ST Dhdl gl §
D. GgUIFT & feIU &8 e

E. Alch el Widgfy

A QU T fae el H ¥ #g SR &l 99 BT
1. HIA A, B, C
2. $dd C, D, E
3. $BIdA.C.D
4. $HddAB,C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212310288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological sequence of the following communication devices:

A. Blu-ray Disc

B. Universal media Disc
C. Digital Compact Disc
D.Hi§

E. Digital Audio Tape

Choose the correct answer from the options given below:

1.E,D,C,B,A
SBRC B AR
3.C,B,AE,D

4.B.AE. D, C

Options :
1.1
2.2
3.3
4.4
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Question Number : 19 Question Id : 34212310288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR ¥ 9 MEfcRad 3uHl & dicishd & el hH Bl UgdH I |

A SIS

B. JHa¥d Hifsar fgh
c. fSfored omae i
D.Ud 35 8

E. fSfored siffsai ¢u

" Gu U [9dedi # U g IR &1 999 DI

1 E/B, C, B, A

2.D,C.B.AE
3.C,B,AE,.D

4.B,A,E,D,C
Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212310289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
(Medium) (Characteristic)
A |Radio I. | Asvnchronous
B. | Print II. |High intensity of information
C. |Hot medium II1. | Interactivity
D. |Internet IV. | Only Acoustic medium

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-II, B-II, C-1IV, D-1
3. A-IIL B-IV, C-1, D-II

4. A-IV, B-1, C-11, D-1II

Options :
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1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212310289 Question Type : MCQ Option Shuffling : No

g28.digialm.com/CAE/viewHtmIPDFAction.action

Correct Marks : 2 Wrong Marks : 0

At 1D 1Y T 11 BT FHAH DIy

I II
=
A |fear 1 |TEsiae
B. (&0 II. |1 D1 I Tedl
C. | 3MepHE A1Ed | 1L | TRERS harEsd
D. |Fee IvV. |ohaa afHe o

A 16U U f[deul § U Igt 3R &1 999 BIIU;

I. A-I, B-II, C-III, D-IV

2. A-1I, B-III, C-1V, D-I

3. A-IIL B-IV, C-1, D-II

4. A-IV, B-1, C-II, D-III

Options :

1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212310290 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If a fraction is multiplied by itself and then divided by the reciprocal of the same fraction, the

) . 8 . .
result obtained is 49 7= Find the fraction.

13

| 2

b

| —

(IR ]

4.41

|
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Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212310290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 fopdl 14 1 I 183 9 707 foha1 WU 3R 39 a16 391 34! & b ¥ fauTiord
[T SITE ol YT URUI 402 GRTTI 98 194 Td BIoIE |

27

2
1.3=
3

]

W | —

[FS]
[ ]
| k2

4.4-

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212310291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of questions mark (?) in the series given below.
4,10,20,34,52,74,?

1. 98

(]

. 102

3.97

4. 100

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212310291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T €1 772 ofRael © Uy fag & R IR SR i S-dTell TR J1d Difeld |

4,10, 20, 34,52, 74,7

1. 98

(]

. JOZ

3.97

4. 100
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212310292 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-I1

LIST1I LISTIO
(Statement) (Result)
A | Average of the squares of first 10 natural numbers| 1. |13
B. | Average of first 5 multiplies of 5 Il |45
C. | Average of first 25 natural numbers III. | 38.5
D. | Average of cubes of first 5 natural numbers IV. |13

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

(]

. A-IL B-IIT, C-IV, D-I
3. A-1IV, B-1, C-11, D-1I

4. A-II1, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212310292 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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gET 1 Y gt 11 1 e Hifor

I I

ol ot

TUH 10 YT fad SeA3l & avll i aigd | 1L |13
5 UM 5 O T S IL |45
WUH 25 YTl STl &l Sed 1. |38.5
TYH 5 Widlad Tl & gl @1 g | 1V |15

A feu U fadedl H# O gl 3Tk &1 994 BT

1. A-1, B-II, C-IIL, D-IV

ola|w|e

o]

. A-1L, B-III, C-IV, D-1
3. A- IV, B-1, C-II, D-1II

4. A-IIT, B-IV, C-I, D-II

Options :
1. 1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212310293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language:

“Kashmiri Cuisines are good” is coded as: ©“ KI CI FI GI”

“You like Kashmiri Cuisines™ is coded as: “AI LI KI CI”

“Indians like Punjabi Cuisines” is coded as: "MI LI BI CI"

“Punjabi Cuisines are best™ 1s coded as: "BI CI FI TT"

How the words “you’. ‘Indians’ and' best' are coded in this language.

1. LI, KI and Al

]

.KI, MI and CI

3. AT MIand TI

4. AT, MI and CI

Options :
1.1
2.2
3.3
4.4
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Question Number : 24 Question Id : 34212310293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g De YW T:-

“Kashmiri cuisines are good” BIKICIFIGI &S ¥ H Pld& [CRIREIG] %
“you like Kashmiri Cuisines” DI AILIKICI D BUH PG [CRIEIG %
“Indians like Punjabi Cuisines™ MI LI BI CI HE0Y Pcds farodrg
“Punjabi Cuisines are best” BI CI FI TI GORCIVRE| hldg [CRIEIGH %

ERs T | ‘vou', ‘Indians’ 3R ‘best’ B fb g PR hcds fopar %?
e Ru T A el # 9 |81 IR &1 99 DI

1.LIL KI 3R AI

2. KI MI 3R c1
3. AL MI 3R TI

4. AL MI 3R c1

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212310294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are some Cows and Ducks in a park. The total number of heads of Cows and Ducks
together is 60. However, the total number legs of the cows and ducks together is 180. Find the
number of cows and ducks in the park, respectively.

1.:30, 30

(]

32,28
3..28 32

4. 24, 36
Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212310294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U Uidh H§ $ T SR &0 3. Tl 3R &l & RRI D1 o [ T 60 31 9T,
T 3R &d] &1 ol eI T &I WBT 180 1 UTdh T TR 31R <l &1 Y& Ho:
1 Hifo |

1. 30, 30

]
5]
-2
| R
vl

L]
]
Lo
[N
]

4. 24, 36
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212310295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“This piece of Chalk has mass, therefore, the atoms that compose this piece of chalk have mass.”
Which of the following options is true of the above argument?

1. Fallacy of composition is committed here

(]

. Slippery slope is involved here
3. Hasty Generalization is committed here

4. Tt 1s a non-fallacious argument

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212310295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i (TGN & 29 The H G0 §. 3YICiU dldh & 39 g BI HHIU - dTel GRATI3ff
H ol o gldT ¢ SUdad gfdd & dey § (Hafafad # 9 A fdasad ga g

g Hefa I fpan g

. Tg b e g g SHdfifigd g1
gl fa=TiRd Qi ol f6ar T g |
T8 TP TR - Fhayuf i ¢

Options :
1.1
2.2
3.3
4.4

[a—

(]

5]

s

Question Number : 27 Question Id : 34212310296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. A valid argument may have false premises and a true conclusion
B. An invalid argument may have false premises and a true conclusion
C. An invalid argument may have true premises and a false conclusion
D. A valid argument may have true premises and a false conclusion

Choose the correct answer from the options given below:

1.A,B,C,D

(]

. B and C only
3. Aand D only

4. A, B and C only
Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212310296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAieiRad § U H-0 &y Td 7

A. U 99 gfaa o T o1emRe i 3R Us 9 Fhy gl 9l g
B. U 3{de gfaa § T e 3R U T 50 gl bl g |
C. U 3{d¥ gfaad ¥ T YTRBR 3R Ueh {21 56y gl Tobal g
D. U d¢ gfcd § ¥ UG 3R U 21 sy gl Ghal g

A fGu U fadedl § ¥ T IR &1 999 DIIu:

1.A,B,C,D

2. HIdB AR C
3. Had AR D
4. PIAA. B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212310297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing denotation.

A. Physics

B. Natural Sciences
C. Sciences

D. Nuclear Physics

Choose the correct answer from the options given below:

1.C,B,A,D

]

B,C, A% D
3:D,4,B;C

4. B,C,D,A
Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212310297 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

fAfIRad &l 9ed a%ad & $H H afid S

A. Yifdd

B. Wi dd [

c. fagm

D. AH® T Hifdh AR

Ard f6u U f[adedi § U 8T IR &1 999 DIl

1. C.,B,A, D

]

B, C,A D

3:D,4,B;C

4.B,C,D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212310298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LISTI LISTII
(Tvpe of informal Fallacy) (Reason)
A |False cause I. |Relevance
B. | Appeal to Emotion II. | Ambiguity
C. | Complex Question III. | Defective Induction
D. | Fallacy of Composition | TV, | Presumption

Choose the correct answer from the options given below:
l. A-IV. B-II, C-III. D-I
2. A-IIL B-L, C-IV, D-II
3. A-IIL B-IV, C-1, D-II

4. A-1I, B-1, C-IV, D-1III

Options :
1.1
2.2
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3.3
4.4

Question Number : 29 Question Id : 34212310298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 1 91y &I 11 61 A Pifore

(&mau‘lﬁa?':gla‘rﬁraﬂm Eg%
A | erRo L U
B. |5AIYd 38 1. |sEgpar
C |Sfcauy 11 | gyl SFme
D. |Hgfa gy IV. | gaigar

i feu 71U fasmedl | 9 98t 3R &1 9949 B
1. A-IV, B-II, C-III, D-1
2. A-III, B-1, C-IV, D-II
3. A-ITI, B-IV, C-1, D-II

4. A-IL, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212310299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic which of the following statements is fallacious because the middle
term instead of proving the existence of the major term in the minor term. it proves its non-
existence therein.

1. Sound is eternal because it is produced

(]

. The hill has fire because it is knowable

5]

. Sound is eternal because it is audible

4. All things are non-eternal because they are knowable

Options :
1.1
2.2
3.3
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4.4

Question Number : 30 Question Id : 34212310299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 ddb & YR Fafafad O 9 o9 oy 0 dheiy § #ifd g ue, Muiug 4§ g e &
3T Bl Tifdd B & 9, g I9H 39D AHIde-dl &l Gifdd Hd] o:

L. & =Y ¢ TP g Ianfad &1 Sl ¢
2. UgTSl H 311 g Al I8 3 B

3. 1 YT ¢ FIH I8 YA B

4. 94T - 90 TR-2n%d € Al d 39 B

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212310300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger. short for keystroke logger, is a type of that monitors and records what
you type on your computer or mobile phone.

1. Worm

(]

. Spyware
3. Virus

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212310300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@I - LIh AR & o Tf&d se, Di - AR Th UHR Bl © Sl 3Ud gRT 30
SR YT HIdgd BH TR <130 DI o gl Gl & FTRE $d1 § 7 38 RIS ddi g

L. drd

2. WRIR
3. digy
4. IS g4

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212310301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. XML- Extensible Markup Language

]

. WWW- World Wide Web

L8]

. VLSI- Very Large Scale Integration

4. SMS- Short Message Software

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212310301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui 9 3D [9%dR &1 " & T D91 g gaferd =81 82

|. UdY UH Ud - U Had AT 3 clidol

2. S& 56 Soq - ¢S A3 dd

3. 91 U U TS - a3l dlol ©hd 5cUeH
4. TYUH TY - T 099 e diR
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Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212310302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of ICT terms A-D that correctly fills the blanks in the following paragraph:
1s permanent memory that is used to store instructions that are needed to start the

computer. is fast temporary memory that is used to store data and applications that are

currently in use. carries out processing and turns data into information. The

is used to plug all other components into the computer system.

A. Motherboard
B.RAM
C.CPU
D. ROM

Choose the correct answer from the options given below:

1.D,B,A,C

(]

AD,C.B
3.C,A,B,D

4.D.B.C.A

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212310302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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318 WA UGl A-D & 39 HH I UgdH DI Sl 74 T2 & Rad Il &l Tg TSR U
ol e e g TSR T 3 e & HeRu & fa i ST § el
SR DI ARY P $ [ol0 MBI el gl 96 g SR Wi gt & ot
3 S1CT 9 3TN BT SR ol SIdT & fSiehT aqH= H TN [ a1 =71 38T gl o
ThHU Bl § 3R S1el &l Y1 § dad ¢al g DT UG 3= i
YU Bl SR Uollell H HisH & ot fhar Sarg |

A HERES

B.3IRUUH
c.gidi g

D. 3R 3 TH
A4 feu U fase el 0 ¥ @gl IR &1 994 ST
1.D.B,A,C
2.A.D,C,B
3.3.CCA,B,D

4.D,B,C. A

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212310303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following software titles are examples of operating system?

A. MS-Word

B. Linux

C. MS-PowerPoint
D. Adobe Photoshop
E. Android

Choose the correct answer from the options given below:

I. A, Cand D only
2. A, B, Cand D only
3. B and E only

4. B. D and E only

Options :
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1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212310303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 8 U &Y e daR 2iNd T=Ta- UMt & 3alg 0l g2

A THUY G5
B. [

C. THTY U} Wige
D. USId BleRiy
E. U343

A feu Y fAdedt 7 ¥ el 3R @1 90 DI
1. $ad A, C 3R D

Had A, B, C 3R D

3. $H9dB 3R E

4. HIA B, DR E

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 35 Question Id : 34212310304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-TT

Tasnt LIST IT
(Computer {Description)
Network) P
A | Flat Network I. | Describes today's worldwide connection of networks
Describes a network that lies completely inside a trusted area of a network
B. | Extranet pi 3 : =4
and is under the security control of system and network administrators
o | s . Describes a network that avoids packet-looping 1ssues, through an architecture
that does not have layers
. |Describes a network that 15 an extension of a selected portion of a company's
D. |Internet V. =
Intranet to external partners

Choose the correct answer from the options given below:

1

(]

4

. A-IV, B-1II, C-I, D-II

. A-III, B-IV, C-I1, D-1

. A-IL B-1, C-1II, D-IV

CA-IIDL B-IV, C-1, D-1I

Options :

1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212310304 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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gET 1 Y gt 11 1 e Hifor

A1 Rl
(@R TTH) (o
A |wICHedd I |3 & fayeardt Heqmi & GaieH &l qui- &idl g

- UY Seqd $1 9 HdT & S uiadT Jead & 9% & & iR 3R omeit
B (Vi I | 3 Fead vemew! & e fgn e 2|

¢ |ewme - m%a?ﬁm%ﬁmﬂﬁm$mmﬂﬁw.ﬁmgﬁﬁ
: . |8 Feads &1 aufA @ & S dUH & S2He & 9 =1 BT aedl

D. |Zewie M iy

i feu 71U fam el # 9 I8t IR &1 994 i

1. A-IV, B-1II, C-I, D-TI

]

. A-IIT, B-IV, C-II, D-I
3. A-II, B-1, C-II1, D-IV

4. A-IIL, B-IV. C-1. D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212310305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is known as the heart of sewage treatment?

l. Primary treatment

3

. Secondary treatment
3. Tertiary treatment

4. Advanced treatment
Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212310305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafeRad d 9 {69 Uh & Saqd 2eH (dids diede) & ged & U O SHET SIldl 82
. WY Qe

fgdig® e
GGILCRULE

4. 3Fd e

]

5]

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212310306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about class I and class IT ozone depleting substances?

A. Ozone depleting potential of class-I substances are far more than class II
B. Ozone depleting potential of class II substances are far more than class I
C. All chlorofluoro carbons belong to class IT ozone depleting substances
D. HCFC-21 belongs to class II ozone depleting substance

E. Class-I contains fully halogenated gases

Choose the correct answer from the options given below:

1. A, D andE only
2. B, C and E only
3.A.Cand D only

4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212310306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7% ¥ 9 ©F 9711 Td Tif11 317 &0 Il & IR H 9 82

A. -1 dcdl DI TSI 0T HUedl avi-11 B da-1 § 9gd 3% g
B. F1-11 Idl D1 TSI &fivre Gyedl 7.1 i el H 9gd 34D g
C. gl FIRIEERI BIa- TH-11 SIS &fivid T Y Heiferd gid g1

D. T Tl U% 4 - 21 711 371504 &0 dd 9 Haidd g

E. 1.1 5 gUia: galoHes 19 gidl g |

A QU T fae el H ¥ #g SR &l 99 BT
1.$dd A, DUGE
2. $HddB,CUHE
3.$adA, CTd D
4. PadC,DUIE

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212310307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of following drinking water treatment processes from initial to
final?

A. Filtration

B. Disinfection

C. Gravity settlement of large particles
D. Flocculation

Choose the correct answer from the options given below:
1.A,B.C,D
2.8 B, D C
3C,D.AB

4.C,D,B. A

Options :
1.1
2.2
3.3
4.4
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Question Number : 38 Question Id : 34212310307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FferRad U & gl &l U I 3id da ATHiha1 uldhar &1 Ugl H a1 gl

A. e (hedem)
B.3 AT ISERERE)
C. 928 U B TRed AT

D. JUH (FRITeRH)
i feu U fadmedl # ° §8T 3T &1 99 Hifels:

1.A,B,C,D

(5]

A, B,D,C
3. DA B

4.C,D,B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212310308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Doha amendment is an amendment to.

. Montreal Protocol

[

]

. Kyoto Protocol

. Stockholm Convention

LS

4. Rio Summit
Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212310308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IgT TR, STHT U T 6:
L. QiAead Uieidbia

 HIel el

 Edhgied gHeH

4. Fog RRER e

Options :
1.1
2.2
3.3
4.4

]

5]

Question Number : 40 Question Id : 34212310309 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-I1

LISTI LISTII

(Sustainable Development Goal (SDG) (SDG No)
A | Climate action I |sSDG12
B. |Life on Land I |SDG 13
C. |Responsible consumption and production | III. | SDG 14
D. |Life below water IV. |5DG 13

Choose the correct answer from the options given below:

1. A-1, B-III, C-IL, D-IV

(]

. A-IIL B-L, C-1IV, D-II

5]

. A-II, B-1V, C-II1, D-1

4. A-IL, B-1V, C-1, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212310309 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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gET 1 Y gt 11 1 e Hifor

I I
(mﬁmﬂ&m@ﬁaﬁ) @éﬂgm
A. |Siciary fepar I |THShs 12
B. |YH W iiaq I |THshEl 13
C. | 3ard SUYRI ud Ide | 1L |TgaSre 14
D. | oid & Ad Sfgd V. |oaEtet 15

A1 fGU U [qdhed! | U Hol SR & 999 DI,
1. A-1. B-III, C-II, D-IV
2. A-III, B-1. C-IV, D-II
3. A-II, B-1V, C-II1. D-1

4. A-1L, B-1V, C-1, D-III

Options :
1. 1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212310310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The New Education Policy, 2020 envisages making all learners:

1. Social volunteers

]

. Efficient administrators
3. True global citizens

4. Spiritual persons

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212310310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I3 TRr&m ifd. 2020 # Gt Rienfdal o fAafafad s9H o iR o1 718 ¢
L. GRS Wada® (dEiem)

. HRIGC UMD
. ardia® di%s AriRe
4. 1D Afdd

Options :
1.1
2.2
3.3
4.4

]

5]

Question Number : 42 Question Id : 34212310311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kanya Mahavidyalayva. an Arya Samaji School. was established in 1896 by:

1. Bhai Veer Singh

[

. Agyva Kaur

LS

. Bhai Takht Singh

4. Lala Devraj

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212310311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST HelaeIaid A STYHS Whd S R ay 1896 H HHARIT safdd gR1 &1 78 2t
TS IR g

SR DR

3. Y5 aved g

4. AT RIS

Options :
1.1
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2.2
3.3
4.4

Question Number : 43 Question Id : 34212310312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major recommendations of the Radhakrishnan Commission are:

A. Transfer of urban universities to rural areas

B. Setting up of rural universities

C. Development of research in agriculture, commerce, law, science and technology
D. Making English language as the medium of instruction at all levels of teaching
E. Focus on student's Welfare

Choose the correct answer from the options given below:

1. A, Bounly

]

.B, C,D only
3.C,D, E only

4.B,C,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212310312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RTUTHW AN B T SR g

A. g3 fayfaearai &1 IrHioT & | QIR

B. U0 fayfaemeral &1 S|

C. PiY, A0, 318, [G9H SIR Ut § oy &1 fasm|
D. &1 & Tt TRT W= 30T W1 B 281 BT HTEH ST
E. B & Bl IR &H higd STl

A QU T fae el H ¥ #g SR &l 99 BT
1. $IA A, B
2. $ddAB,C.D
3. $9dC.D.E
4. HdAB, C, E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212310313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Ancient Texts in chronological order.

A. Rig Veda

B. Lilavati

C. Aryabhativa
D. Arthasastra

Choose the correct answer from the options given below:

1.A,C,D,B

]

A DC B
3B.C,D. A

4. A.B,D.C
Options :
1.1
2.2
3.3
4.4
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Question Number : 44 Question Id : 34212310313 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeRad U 34l &1 BIehH & SFHR HIRYd DI

A BAG

B. didrddl
C. Y™
D. 3Rd

4 feu U fqdhedi § U g7 IR 1 99 Sl
1.A,C,D,B
2.A.D.C,B
3.B,C,D.A

4.4A4,B,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212310314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-I1

LISTI LISTII
Authors Works
A |Pingal I. |Lilavati
B. | Panini II. | Chhandasastra
C. | Arvabhatta IIT. | Astadhyayi
D. |Bhaskaracharya | IV. | Arvabhativa

Choose the correct answer from the options given below:
1. A-II, B-IV, C-III, D-1
2. A-IIL B-I1. C-IV, D-I
3. AL B-IIL, C-IV, D-I

4. A-I, B-IIL, C-IV, D-II

Options :
1.1
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2.2
3.3
4.4

Question Number : 45 Question Id : 34212310314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 1D 1Y T 11 BT FHAH DIy

AT iR
T 1. |<icradt
ot I |Scard

Hrfug I0L. | SrETeardt
yeREE | IV | Smiyd

i feu U fadedl H§ 9 "l 3R &1 994 BT

1. A-II, B-IV, C-II1, D-1

ola|w|

]

. A-III, B-1I, C-IV, D-1

3. AL B-III, C-IV, D-1

4. A-1, B-IIL, C-1V, D-II

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 342123407
Question Shuffling Allowed : No

Question Id : 34212310315 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Read the passage carefully and answer the questions that follows:

A famine in China from 1958 to 1960 estimated to have killed about twenty-five million people.
The reason why that’s called a political crime-an ideological crime-which was discussed in most
detail by Amartya Sen; it’s part of the work for which he won the Nobel Prize. Sen is an
economist who treated this as an ideological crime for food reasons. He said it wasn’t a matter of
intent; they didn’t intend to kill anybody. It’s just that the ideological instructions were such that
it happened. It was a totalitarian state where no information about what was happening ever got
back to the center. They couldn’t take any action because that’s what happens in a totalitarian
state. So it was a reflection of the totalitarian instructions, a huge massacre that wasn’t intended.
They didn’t intend to kill twenty-five million people, but it was still a major massacre, and it’s
correct to call it one of the major atrocities of the twentieth century, and the worst single
component of the crimes of Communism.

Sub questions

Question Number : 46 Question Id : 34212310316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What period did the famine in China, described in the passage, occur?

1. 1945 to 1948

]

. 1958 to 1960

5]

. 1965 to 1968

4.1972 to0 1975
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212310317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, how many people are estimated to have died in the famine in China?

1. 15 million

]

.25 million

3. 35 million

4. 45 million
Options :
1.1
2.2
3.3
4.4
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Question Number : 48 Question Id : 34212310318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

who discussed the famine in detail and considered it an ideological crime?

. Karl Marx

[

. Amartya Sen
3. Noam Chomsky

4. T. S Eliot
Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212310319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage. what was the main reason for which the famine occurred in the
totalitarian state?

1. Intentional government polices

]

. Unpredictable natural disasters
3. Foreign interventions

4. Lack of information reaching the central authorities

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212310320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does the passage classify the famine in terms of twentieth-century atrocities?

1. A deliberate genocide

(]

. A minor event
3. an unavoidable disaster

4. One of the major atrocities

Options :
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1.1
2.2
3.3
4.4

Question Id : 34212310315 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

FrafifEd T @1 wyde ug iR 39 a1g 3T T vt & 3w difve:

Ty 1958 ¥ 1960 I o H TS glier o ST 25 Tl |l & R SH &1 SHEH fdar 1
g1 33 HRUT 3 U AoHIdD URTY — U ddIied 3URTY Sl T g, forga! 3Hd I 4
Taiftre faegd == B 78 IT1 39 Bid &1 4T B, oS fiu I Fidd [REBR SitdT 37
U ARl €, BreH YR SRUI Y 34 U ddikd WR1Y & ¥4 8 AF1| 35 Hl (b
g =1ad &1 Al g1 oT; d bl DI ARAT 78! 9gd U1 I8 Dhad 3a-1 ¢ b dd1D T
24 WRg @I 41 16 78 81 7111 FiH U Y91 Iy U1, STl S 9fed g 38T U1, 3B Y-l
D14 Il dP A1 Ugd Yl A1 d Dls DRAms gl DR Udb Hifh U Jauddd g H Ul
gidl 1 29fd, U8 gagardd driiel &1 ufdfed g, 98 U d91 RuUeR U, o Ui
SXIGT AIE! AUT| 3T 330al 25 [AfeaH T &l IR STa- &1 el o1, e i I8 s ugd 3y
TRYGR Y1, 3R Y d1d| Wdlsg] & YHE AR H ¥ Uh, 3R GrdiG & 3R & Udh
g6 9 dgl Yol ol

Sub questions

Question Number : 46 Question Id : 34212310316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S T § afoid < | gitle fa safe o ufeq gam ym
1. 1945 1 1948

. 1958 H 1960

(]

3.1965 9 1968

4.1972 9 1975

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212310317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SUYAd TR & SER o1 ® US gfHier # fbd- oivl & AR S &1 3 fohar mar g2

1. 15 faferga

[a—

]
g
h

4. 45 THiegT

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212310318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fb g = 1 ug gfile ol fawdd =<l &1 3R 28 U a1 3=y g1
L. DId gray

0. 3HA I
3. A1H IEDH]

4. 71, Ug. sfepae

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212310319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U TR o YR b G871 RO Y Yaadidd Iog | gie ugr U
. G AR Aifaar
2. AT UG fad SHeT
3. fac=i gwaem
4. D210 UIHTRAT I Y1 Ugd- BT 3479

Options :
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1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212310320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y TR Sd! Wdled] & HATIRI & T | gitier Bl Iiifdd Bl g2
. STH-SDR b1 141 Uh REGR

.U HIHCH g

U 3ORer fauer

4. YA AR 6 Y U

[a—

]

5]

Options :
1.1
2.2
3.3
4.4

Population Studies
Section Id : 342123138
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123408
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212310321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which is the first country to initiate family planning programme in the world?

1. China

. Japan

(]

3. India

4. Indonesia
Options :
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1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212310321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URaR oA $THEH URY S a1l [9Y T 9gdl o & 91 g2
1. diH

]

REIEIC

3. HRd

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212310322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is ‘Primordial” prevention in contest of Non-Communicable diseases (NCDS)?

1. It aims to psychological rehabilitation by yoga etc.

(]

. Prevention of development of risk factors in community
3. Prevention of development of disease in persons having risk factors

4. It consists of advance treatment of disease complications

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212310322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212310323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is pot correct regarding *Moral Hazard’ in context of Health Insurance?

1. Increase in utilization of medical services that results from being insured

|

. The subsidy provided by exempting emplover- provided health insurance benefits from
taxes encourages extra insurance coverage

3. General rise in the price of medical care because insurance increases demand for services

4. ‘Moral Hazard” benefits more to service provider and less to insurers

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212310323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W g1 & geH | Sfas Sifes & de9y # fFafafad § 9 o 9 381 82
1. dIf7d g1 & gy fafde darei & Suan | giee

2. FFIOTaT R Ve WY ST &4l B Ca8 FE G UeT- &l 715 Giela! Hidiad o1ar
DAYl Dl UHTigd ddl §

3. Fafhea SauTer o gy afes aifs «ftar darsit &1 Ain 7 gfes s g
4. Afd® SIRGA TaT Uard! &f A8 3R S Hdf Bl HAAH Sl ©
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Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212310324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Conditions under which pregnancy can be terminated under MTP Act in India?

1. Willingness of couple

3

. Pregnancy out of wedlock
3. Divorce

4. Eugenic

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212310324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

THICT A & T8d fhg Thd TR THUTT S/ S Jbdl &
RN RSED

feargwR

3. qelid

S EEIECAUEIRED)

Options :
1.1
2.2
3.3
4.4

[a—

]

=

Question Number : 55 Question Id : 34212310325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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While discussing the relationship between population and development, who among the
tollowing claimed that technology would improve with population growth and lead to new
resources?

1. Coale and Hoover
2. Malthus
3. Julian Simon

4. Simon Kuznets
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212310325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST 3R [Ah & o ddo 0 di dd gU Fafeiad 0 9 fey- grar fhar fa sy
dfg & 91y db-ld d GUR g 3R AU 161 o1 3R o S|

I. DU 3R R

[

2. HIeYd

3. SiferdH REH

4. F9OH oY

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212310326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which year, the Chipko movement led by Gaura Devi was launched by women activists?

1. 1987

(]

19940

3. 1992

4. 1982
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Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212310326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRT &dl & -iga | Aiga dridwarel A {69 au fus! siea- uRY [

1. 1987

(]

. 1990
3.1992

4. 1982

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212310327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following terms as per UNDP is associated with the process of enlarging people's
choices?

1. Human Development

]

. Consumer Right
3. Social Development

4. Sustainable Development

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212310327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Wﬁﬁﬁmwﬁﬁ%maﬁ%w%%ﬁuﬁm%ma%

1. {14 fdrg
2. JUHIKT PR
3. oS [dary

4. 9dad f[demg

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212310328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which year, National Commission for Women was set up in India?

1. 1989
2.1992
3. 1995

4. 1999
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212310328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR H P17 Afger AR fod 9 g d fbar

1. 1989

]

. 1992

3. 1995

4. 1999

Options :
1.1
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2.2
3.3
4.4

Question Number : 59 Question Id : 34212310329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true regarding the concept of gender?

1. It is biologically determined

3

. It is a numerical concept

5]

. It is same as sex of the person

4. It 1s a social construct
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212310329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el (S8?) & AR # Fafaiad o 9 S $y1 9 82
T8 Sfas =0 3 AyfiRa g

. g GATHS AR G|

. g Tl afdd & o (399 & THM Bl 5

.8 U 9IS AT g |

[

(]

5]

-

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212310330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If response categories are strongly disagree (1), somewhat disagree (2), neither agree nor disagree
(3), somewhat agree (4) and strongly agree (5), then response category is called?

1. Nominal

(]

. Ordinal

5]

. Interval

4. Ratio

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212310330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3R IR AI01 : Quicrdr SRgHd (1), TS Ba db SHeHd (2) AT a1 &g 3R A1 9gqd (3)
$ ga db YgHd (4) 3R Yuiadl 3¥gHd g di 3ok 4ufl g

1. A& (ATEd)
2. BifASH

3. 3[R

4. HAqUId

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212310331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following holds true in a positively skewed distribution of data?

1. Mean = Median = Mode

(]

. Mean = Median = Mode

L

. Mode = Median = Mean

4. Mean = Median = Mode
Options :
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1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212310331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S h YHRIAD T Y 990 (I73) [qRu & IR § Fgferigd § 9 o9 99 82
1. 71e = HIfedh] = dgad

]

 HIE > AP -~ dgad
. dgdd > Hifed1 > Hiel

LrS]

4. H1¥] = AP > dgad

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212310332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has introduced the cohort-component method of population projection for the first time?

l. Canaan

]

. Bowley

5]

. Whelpton

4. de Gans
Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212310332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SIERET UTeidRH & eIy Gduud gl v (diY fbh g Ukdd i?
L.

dI3d
3. QP

4. fa g

]

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212310333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following mathematical models of population projection is based on the equation
bt
P=K-a® ?

[a—

. Logistic Model

(]

. Exponential Model
3. Modified Exponential Model

4. Gompertz Model

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212310333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafeRad § § & HE1 TGS UTSla2H & T §13d p, - Ko THIHI0 TR IR 62
1. A Alsd

91 Arsd

3. TR 9Idig Arsd

4. MSS Arsd

]
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Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212310334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not true about chi-square test?

1. Tells about the presence or absence of an association between two characteristics

3

. Directly measures the strength of association

5]

. Tests goodness of fit

4. Can be used when more than two groups are to be compared

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212310334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

PIS-HRR W0 & IR H fafad # ¥ o I8 22l 62

&l HfgT & o ddegdl & Juffd a1 uiifd & aR d 9drar g1
 UERST Y Heegdl B Wl I AT & |

 TSY HIP [the &1 I Hdl g |

. SId &1 Y 39D JYgI B o1 HA1 gl dl TG {ha ST qHhdar g |

Options :
1.1
2.2
3.3
4.4

[a—

]

[975]

=

Question Number : 65 Question Id : 34212310335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Following are the results of a case-control study. Calculate odds ratio.

Diabetic | Non-diabetic

Obese 30 20
Non-obese |20 30
Total 50 50

The odds ratio will be

1.1.50

]

4 B
3.0.44

4. 2.25

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212310335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fEfeRId U H9 — =07 e & uRond g1 fq9H Surd &f T0HT $1 |

Tefig AR — HeiE AT
A |30 20
-Are(20 30
a0 50

fH aurd g
1. 1.50
2.135
3.0.44
4.2.25

Options :

1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 34212310336 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Which of the following is not a qualitative method of data collection?

1. Focus Group Discussion

(]

. Observation

LrS]

. Mystry client

4. Household interview
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212310336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad d 9 HE! 321 GUgU &1 U 0N fdie 781 82

AR B FNENERE

—

 Hequy

e HBe
4. R H Ig- 91d] BT GI&THR

o]

7S]

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212310337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not required to calculate sample size for estimation of prevalence of a
diseases?

a—

. Population of the area

(]

. Prevalence of disease available from earlier study
3. Level of significance

4. Error in estimate

Options :
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1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212310337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qa?gﬂﬁ UGBl & I o [T THAT MBR B 10 gd HafcRgd § I F 1 sawad
Tol g2
L. &3 I S

]

.Jd & YT Y U I ! ATD

5]

. Heod B

4. b H e

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212310338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following indices measures the overall age displacement in five-year age groups
and gender differential in age misreporting in the data?

. UN Accuracy Index

]

. Myer's Index
3. Gini Concentration Index

4. Coale's Index

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212310338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(EfaRId Gadial § U SI-91 Ui ay & 211G 9481 H $ol 1] [d104 3R idbsi T -3y
1 TTerd RUiféT & fof7 faved: &1 3o+ Sl g2

1. guA HlHhdl Jadhid
2. AR &1 Dl
3. Tl b gur gashie

4. DI BT YIbidh

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212310339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following sources of population data in India is based on the dual recording system?

1. SRS

]

. CR5S
3. NFHS

4. NSS
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212310339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S el & HafaRad ° © 9 wid gd Ruld uonel w anemfid g2
1. TH3RTYH

2. HI3RTyg
3. UUhUdUY
4. THUHUTY

Options :
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1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212310340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Registration of Births and Deaths Act in India, which made reporting and registration of
births and deaths compulsory was introduced in which of the following year?

1. 1952

]

- 1935
3.1962

4. 1969

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212310340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S 3R GG 1 YT & 3R USR] b fFar] 6 diet <& 3R g Usiihor
siferfam &1 fog ad yafdd faar marn

1. 1952

(]

19259

3.1962

4. 1969
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212310341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In which Census of India, information about tribes was collected and analysed for the first time?

1. 1951

]

. 1961
3. 1971

4. 1981
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212310341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRA &1 ¥ SIHTUET H gl dR Seniad! & 9R § a1 Gafgd SR ey of 152

1. 1951

]

. 1961
3.1971

4. 1981

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212310342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which century, Arthashastra of Kautilya prescribed population census?

1. 15t Century

]

28 Century

3. 3 ¢ entury

4th

=

Century

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 71/160



8/31/24, 10:31 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
3.3
4.4

Question Number : 72 Question Id : 34212310342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR o, 759 rdreal | Difecd BT IR, SHIT0HT &1 HE=1 ol 82
L. UH R[cleg]

. feciig 2rdrsat

. clig AdTsal

4. 9 drec]

Options :
1.1
2.2
3.3
4.4

(]

5]

Question Number : 73 Question Id : 34212310343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following measures is defined as the average number of girls expected to be borne
to a women in a population exposed to a given set of Age Specific Fertility Rates during her
entire reproductive span of life?

1. Total Fertility Rate (TFR)

(]

. Gross Reproduction Rate (GRR)

5]

. Net Reproduction Rate (NRR)

4. General Fertility Rate (GFR)

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212310343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SHTfATRIT SF-&Fc &1 & T QT T W= W iR e Seem § i@ Afed &
Hqﬂ?%agﬂwﬁwﬁﬁaﬁﬂmﬁ 3{19d T & ot HafaRad § 9 S8 UgHE1
= ?

A -8 & (SIUHSR)

[—

(]

. g Yo X (ST3R3R)
3. 919 IS &R (TH3R3IR)

4. YT S &HdT &R (SIUH3HR)
Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212310344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following terms is used to categorize women on the basis of number of children
born alive to them?

l. Parity
2. Birth order
3. Cohort

4. Fecundity

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212310344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Aigelafl Bl 34 S ¢H dId Siifdd d=di &1 &A1 & YR IR Fihd B & feU
frafeiRad & 9 &4 Weg ST | forar |rar ge

1. URet
S oA @Y 31

T (BIGIC)
. FgUSIdl (b fadh)

Options :
1.1
2.2
3.3
4.4

(]

5]

s

Question Number : 75 Question Id : 34212310345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the value of the weight recommended by the United Nations which corresponds to the
pattern of fertility for the age-group 30-34 years in Sex-Age Adjusted Birth Rate?

I

(]

.4

4.7

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212310345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fef71- 311 THEISTT ST &2 | 30-34 98 & 31 UHg & el SH9-40d1 & Ued & 3=y
TR AP GRT SR YR DT HH 1 62

I3

]

.4

4.7
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Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212310346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many girl child will be borne in a year in a small town having mid-year population of
10,000 and CBR of 31.5 per thousand, if sex-ratio at birth is 110 males per 100 females?

1. 145

]

. 150

L]
—
n
n

4. 165
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212310346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR S WR et 3urd ufd 100 Afgeiedl 0 110 TN g d H&1-dY 10,000 P STHIEAT 3R
21 o1 &2 (HId131R) 31.5 Ufd U IR TG dldl U BI¢ i T Ueh ay I {1 disfdbal
&I S B

1. 145

3

. 150

LIS
—
(]
h

4. 165
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212310347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the value of Crude Death Rate (CDR) for a life table population with e, of 80?

[a—

. 7.5 per thousand

(]

. 10.0 per thousand

5]

. 12.5 per thousand

4. 15.0 per thousand

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212310347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e,=80 & TTY Gl YR SHEREAT & [T 3=fEd g &2 (HIST3R) 1 HHE H1 87
.7.5 Ufd U Bk

[a—

]

. 10.0 Ufd Uh guIR
. 12.5 Ufd U goIR

5]

4. 15.0 Ufd U g9k
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212310348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If a stable population is growing at the annual rate (r), compounded continuously, and the net
reproduction rate (R,) is its rate of growth in one generation, after T years the net reproduction

rate (R,) Is expressed as:

1. RO=eI'T
2.R,=Te'
3. R0=re:T
4. R,=rTe'

Options :

1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 34212310348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3R 91D &3 (r) ¥ 96 31 U R S IR "aiferd gidl g 3R fHad U &1 (R,)
TG Uh Uigl ¥ gfeg X g ol T 98l & dle FHdel Yol & (R,) [T =0 § g=1ig ST

1. R0= e rT
2.R,=T¢'
3. R0=reT
4. R, =rTe'

Options :

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 34212310349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which one of the following north-eastern State has highest estimated birth rate in the year 2020
(SRS Bulletin, 2022)?

1. Arunachal Pradesh

(]

. Manipur
3. Meghalava

4. Nagaland

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212310349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafeRad o 9 feo g 3R ydf 31 &1 a9 2020 T S=ddd 3HHIAT O & (THIHRUY dolfed,
2022) 87

1. 3BUTEd Uox

AR
3, HYTag
4. AN S

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 80 Question Id : 34212310350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The leading cause of deaths in the age 70 vears and above is cardiovascular disease in India. As
per Causes of Death Statistics, 2017-19, what is its share?

1.27%

b
[
[o%]
o
e
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Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212310350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR H Ty 2017-19 F 70 99 3R 28Y 3{f¥d 39 & dlfl § G &1 UHT HRUI geddigd I
¢ AR Pl Hidl H 39! Hiad ¥ [gReRl (g "D, 2017-19 & SHR) g2

1.27%

b
[
[o%]
o

4. 30%
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212310351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In life table, probability of surviving from birth to the g5t birthday 1z calculated by using the formula:

Lgs
L. gsPp = L;
-~ P }fr'}
2.65k0 =
Iy
Ly
3.65P0=——
Lgs
|
0
4. 658 = T
65
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212310351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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waﬂa%ﬂmﬂﬁwﬁssﬁwﬁ?aﬁsﬂﬁﬁﬁaﬁuﬁwaﬁﬁaﬁmﬂjﬁm
DI Tl 82

Lés
logsle = L =
0
~ P, = ](1-5
26510 =7
0
Ly
gsbo=—-
Les
o
Higa By =3
65
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212310352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following states has the highest level of life expectancy at birth during the
period 2016-20, as per SRS Oct 2022 Report?

|. Himachal Pradesh
2. Jammu and Kashmir
3. Uttarakhand

4. Odisha
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212310352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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THSRUY (3R 2022) P IR 94 2016-20 D1 3f@fe ¥ fFafciad O I fog sa 8 &4
TR Siid- TR Bl S=ddd TR 62

| fer=a e
2. S0 3R HIRAR
3. IRIES

4. 3fifs=m
Options :
1. 1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212310353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following formula is used to calculate Life Time Risk?

a2

1.1 f] Maternal Mortality Ratio
\ 1,00,000

I Maternal Mortality Rate Tﬁ

1,00,000

\35

2. 1_[ =
3.9 +[1 _ Maternal Mortality Ratio ‘

100,000 )

iy +[I Maternal Mortality Rate ]35
1,00,000
Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212310353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafafad d 9 {69 G &1 UG Siiad I SIRgH $i T0HT & e fhar Srar g2

HTE Hew I |30
l.g. ( __~.£__e__ﬂ_)
\ 1,00,000

A g et ®
2.9 — — e e SH
: (1 1,00,000 )

3 ( HTT Hog I )35
TS I o i
1,00,000

; AT AL aT \*°
._EI l+ T . = = - )
1,00,000
Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212310354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods is not an indirect method of estimation of Net Internal
Migration?

1. Vital Statistics Method
2. P/F Ratio Method
3. National Growth Rate Method

4. Survival Ratio Method

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212310354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAofeRad | T oAUt fafe fHad (o) Miaie Uar & dbad $f Aude [afe 981 g2
1. 57 — TRl gifemas! fafe

]

41U ST fafy
B gfeg g fafy

. IRl 3rd fafy

5]

=

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212310355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What will be the out Migration Rate of a village having a population size of 4500, if the in and
out migration volume of that village during the reference period is 100 and 600 respectively?

1. 11.1%

[
—
k2
=
=]
=

3.13.3%

4.15.6%

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212310355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4500 D1 SR Il U Tid 1 UaH 3@y & GRE AT 3R 9ieTH4 Uard Ha: 100
3R 600 g d1 3 Tid &I SigTTHH UaM & 1 g

1.11.1%

[
—
t-2
=
=]
=3

4. 15.6%

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212310356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not a water-borne disease?

1. Polio

(]

. Typhoid

5]

. Hepatitis A and E

4. Hepatitis B
Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212310356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAieRad § T SIF91 U Sld-UhHd I Io) o7
1. Oiferi

N

TGS
fRuersfeaUsiRg
4. TgUergfeq st

Options :
1.1
2.2
3.3
4.4

]

5]

Question Number : 87 Question Id : 34212310357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following terms refer to the way of living or characteristics of lifestvle of people
living in urban area?

1. Urban deviance

(]

. Urbanism
3. Urban heritage

4. Urban life

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212310357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRaa & O S99 eg TR &7 H AT & Siid- St & aiid a7 Sia-Rict & AT
& Halid Bl g2

1. AR fagameH

(]

. RdIG
3, AR RO
4. TR Sigq
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Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212310358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following North-Eastern states or India has the lowest literacy rate, as per
Census 2011 ?

1. Nagaland

(]

. Arunachal Pradesh

5]

. Tripura

4. Meghalaya

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212310358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

faieTRad 3R gdf sl @ U fhd H a9 2011 1 SUET & SFIR G4 HH JI&RAI & 52
L AN S

= LIS

3. 0%
4. HYTe™

Options :
1.1
2.2
3.3
4.4

]

Question Number : 89 Question Id : 34212310359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following types of population pyramids depicts the population structure of places
with high life expectancy and healthy living condition and comparatively lower birth rates?

1. Constrictive

(]

. Stationary

5]

. Expansive

4. Conical

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212310359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeifad see RIS 4 9 ST Sl Siid-UdRIr iR Gy -siifdan- Ry aur
daTd D &Y Y (99 57 & a1t Rl &1 ST G491 &l [Ed 6 g2

L. Ul (dufefdea)
2. 3R (LR
3. [IWRT (uagfi)

4. ABIBHR (DI-Ha)

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212310360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Gini concentration ratio measures the degree of inequality. The Gini ratio falls between?

1.0.0-1.0
2.00-1.0
3.00-10.0
4. 0.0 -100.0
Options :
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1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212310360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T YT 3T SIATAT B A BT AT Bl © | T 3rIuTd Fafeiad § ¥ foas
a9 A g?

1.0.0- 1.0
2.00-1.0
3.0.0-10.0
4. 0.0 -100.0

Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 34212310361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange following states in descending order (high to low) in term of rural death rate, as per SRS
Bulletin 2020.

A. Karnataka
B. Kerala

C. Tamil Nadu
D. Maharashtra
E. Uttarakhand

Choose the correct answer from the options given below:
1.A,B,C,D,E
2B, C:D.E A
3.C,A,B,E.D

4. B, E,A, B, C
Options :
1.1
2.2
3.3
4.4
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Question Number : 91 Question Id : 34212310361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

THHRUY galfc 2020 & HTHR, Y01 g &R & e d FafcriRad Irsdi &1 3arigl oo
(3= 9 949) ¥ saf&yd o3|

A, BAlCH
B. Bd

C. AT
D. HeRT¥
v .

A1 fGU U f[qdhedl | U Ug1 SR &1 994 DifeIg:
1..ABCIDE
2.B,C,D,E,A
3.C,AB,E.D

4. D, E,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212310362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange following states in order of their female literacy rates (Lower to Higher) as per Census
2011:

A. Goa

B. Maharashtra
C. Mizoram

D. Tamil Nadu
E. Tripura

Choose the correct answer from the options given below:
1.4 B, C.DE
2. B, DA CE
3. D,B,E. A€
4 ECBAD
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Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212310362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aﬁﬁaﬁﬁ@aﬂ@ﬂﬁwzml & STHR, Afge HIERdl &R (F9 9 3=) & &H H oafyd
|

PRI

B. HelRT¥
c. fieiiRa

D. diierg
E. QI

i feu U faded! § 9 g1 SR &1 994 DIt
LA B, C. D, E
2.B,.D,A,.C,E
3.D;B.E, A€

4 E.C.B,AD
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212310363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If arranged in ascending order what will be the sequence of states as far as percentage of aged
population (60 and above), as per 2011 Census?

A. Goa

B. Himachal Pradesh
C. Kerala

D. Tamil Nadu

Choose the correct answer from the options given below:
1. A,B.C.D
2.8, B DL C
3.B.D.A.C

4.B,A,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212310363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fEfeRad Tl &1 ST 2011 & SYR, 396! gi SHEEAT UARId (60+) & RIS HH
(99 3=) ¥ HaYd &3

A T3

B. fgHEa USw
C. &

D. AHeTg
Hd 16U U f[ddedl U Tgl 3R &l 994 BHIfoIu:

1.A,B,C,D

]

.A,B,D,C

3.B,DA,C

4. B, A, C,D
Options :
1.1
2.2
3.3
4.4

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 91/160



8/31/24, 10:31 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 94 Question Id : 34212310364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What will be the correct sequence, if population of the following continents are arranged in
descending order?

A. Africa

B. Asia

C. Europe

D. Latin America
E. North America

Choose the correct answer from the options given below:

I ABCIDE

[

.A,B,C,E,D
3.B.A,C,E.D

4.B. A, C.D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212310364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gﬁaﬁﬁaﬁﬂ%ﬁﬁaﬁwdﬂ ST & 2fdiie] $H H Tard &3 9 31%1 Jol HH 31

A. BIdRT
B. UfRM

C. qRT
D. Tifed ARSI
E. 3R ARSI

i f&U U f[qdhedl | U Ugl IR &1 994 HifeIg:

1.8, B0 DE

2.48,B,C.E.D
3.B;A,C.E,D

4.B.AC.D.E
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Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212310365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of stages of urbanization?
A. Urbanization
B. Counter urbanization

C. Suburbanization
D. Re-urbanization

Choose the correct answer from the options given below:

1. AB,C.D

]

JGA, BB
3.A.C,B.D

4.C.A B.D
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212310365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 93/160



8/31/24, 10:31 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

TRIH0] & RN &1 Ul b 157

A, TRIHIO

B. Ufd FRI®R0
C. 30 — TRIHI0
D. TT: — RIS

Ad 16U 71U fddedl U Tgl 3R &l 994 BHIoIu:

1.A,B,C,D

]

JG A BB
33A.C,B.D

4. C,A,B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212310366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following states in descending order (high to low) in term of early neo-natal
mortality rate, according to SRS Statistical Report, 2020.

A. Bihar

B. Madhya Pradesh
C. Odisha

D. Haryana

E. Kerala

Choose the correct answer from the options given below:
1.A,B,C,D,E
2:B, C: A D.E
3.0 ABE

4.D.A& B C.E
Options :
1.1
2.2
3.3
4.4
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Question Number : 96 Question Id : 34212310366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TYSRUY HiRe®! RUE 2020 & SUR, HH 34 & Aduild R §g & & deo d HafaRad
Il Bl SHaRIg! HH (3= U 49 1 ogafeyd w1 |

A1 fGU U f[qdhedl | U Ug1 SR &1 994 DifeIg:
1..ABCIDE
2.B,C,A,D.E
3.CD,AB.E

4. DA B CE

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212310367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per Census 2011, what will be the sequence if volume of migrants by reasons of migration in
India is arranged in a descending order?

A. Work / Employment

B. Education

C. Marriage
D. Moved with household

E. Moved after birth

Choose the correct answer from the options given below:

1.A,B.C.,D,E

2.A,C.B,E.D

3.C.D.E,;AB

4. C.AB.D.E
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Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212310367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3R HRd H Ya & SRUN Y UaTd & 31 Bl dRie! $H H IRUTES a1 STe df ST
2011 @ IR gl HH F1 g

A, BRI
B. e

c.fadre
D. GRAR & Y1 RITH Sga-1
E. O & dIg &M 9Ga-]

i feu U faded! § 9 gl SR &1 994 DI

1.8, B0 DE

2.8,C,B,E.D
3.C,D,EAB

4.C,A,B,D,E
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212310368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following Greenhouse gases in order of their global warming potential (Lowest to
Highest).

A. Nitrous Oxide
B. Methane

C. Carbon Dioxide
D. Water Vapour

Choose the correct answer from the options given below:

1.A,B,C,D

(]

D C, B, A
3.D,B,A,C

4. A.D,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212310368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frgfead U 8139 T8l & YHS R A (Felide SitHT) H 3D! GHESIRdT (FaaA d
3=dH) & HH § AT B |

A.TI3CY 3RS
B. HIZH

C. PRI S HHIZS
D. Sd a0

i feu U f9shedl 4 Ugl 3R &1 994 BHIIE:

1.A,B,C,D

]

.D,C,B,A
3.D.B,A,C

4. A.D,B,C
Options :
1.1
2.2
3.3
4.4
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Question Number : 99 Question Id : 34212310369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange following events in chronological order of the year they were held (in ascending order).

A. Kyoto Protocol

B. The UN Framework convention on climate change (UNFCCC)

C. The UN conference on Environment and Development (UNCED): the Earth Summit
D. The UN conference on Human Development: Stockholm conference

E. The UN conference on Sustainable Development (UNCSD) held at Rio de Janeiro

Choose the correct answer from the options given below:

L BC, B AE

]

B.D,CE A
3EABCD

4.A,B,C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212310369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad gedrai o1 34 gfed giH & au (3RIg] HH H) & bladhd H HdRd D1 |
A. HEI YDA
B. Sl R TR gUH S0 SR (Auuhm O
C. qA1aR01 3R fdH™ IR gud @ (guAdiEal) - Jedl fRRaR g
D. A4 [P R U YHTH ; WihgH e
E. F f8 SR o Smnford add fasry oR gud guieq

I feu U fodhedl # 0 Ul TR &1 994 B0

LBDVE B AE

2.B,D,C,E;A

3.E.AB,C.D

4 A.B,C.D.,E
Options :

1.1
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2.2
3.3
4.4

Question Number : 100 Question Id : 34212310370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in ascending order of their vear of implementation.
A. National Population Policy, 2000
B. RMNCAH+N
C. Reproductive and Child Health Progarmme
D. National Rural Health Mission

Choose the correct answer from the options given below:

1. AB,C.D

]

D, C,B,A
3:B,DAC

4.C,A,D.B

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212310370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FReIRad I 396 ST & ARigl HH H Haiad Hil

A. 1 S=ReT Hifd, 2000

B. 3R UH U4 ] U UF + U4 (RMNCAH+N)
C. Yo 2R 91d WY S

D. PG YTHIUN WY H{HAH

e 6T U f[qdhedl | U gl SR &1 994 HIfeIg:

1. AB,C.D

]

LC, BA
3.B,D,AC

4.C,A,D,B

Options :
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1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212310371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the chronology of events during evolution of family planning programme in ascending
order:

A. Extension education programme

B. Renaming of family planning to family welfare
C. Target free approach

D. Medical Termination of Pregnancy Act

E. Child Survival and Safe Motherhood programme

Choose the correct answer from the options given below:

1.A,D B.EC

(]

ABDVEC

3.4, DB, C.E

4.AD.EBC
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212310371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URaR (AeH Sried & fahrd & SR FHafcRad ge-13i &1 Srardsd § Hafid o

A. foR e sriwy

B. URAR MO &1 911 gRafdd dd TRaR Hearol S
C. T&T gad 3Ury

D. e g sifefas

E. 911 STRuiliddl RIET Alged Srishd

i feu U fgshedl H 4 Ugl 3R &1 994 BHII:

1.LA,D,B,E,C

2AB.DEC
3.8, D BCE

4.A. B E, B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212310372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the components of “Result Framework’ in proper sequence in context of monitoring and
evaluation.

A. Input

B. Process

C. Activities

D. Outputs

E. Outcome/Impact

Choose the correct answer from the options given below:

1.A,C,B,D,E

-2

AB; D, CE
3.A,C,B.E, D

4. A,B,C,D,.E
Options :
1.1
2.2
3.3
4.4
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Question Number : 102 Question Id : 34212310372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR =0RAT & gehl Bl FRMET 3R i & daul # 3fd ou 0 Haiyd o1 |

A.79¢

B. Ufhdl

C. G
D. 313cUc

E. URUMH/IHIG

i feu U fadhedl # Ul 3R &1 9094 B0

1.A,C,B, D, E

2ABRCE
3.AC.RBED

4.A,B,C,D,E
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212310373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following World Population Conferences/ Declarations chronologically in ascending
order.

A. Bucharest
B. Mexico
C. Cairo

D. Alma Ata

Choose the correct answer from the options given below:
1.A.B.C.D
2B CBA
3.8 €. B, D

4.D,B,C, A

Options :
1.1
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2.2
3.3
4.4

Question Number : 103 Question Id : 34212310373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afeRad fay STee gl =Ivuns & Brarsd § oIad o1
A. SURE
B. Hidg®!
C. PISRY
D. 3T 31T
i feu U fadhedl § O Ul 3R &I 994 Difels:

1.A,B,C,D

2. D, C.B.A
3.A,C,B.D

4.D,B,C, A

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212310374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of activities in processing of data in GIS.

A. Data Storage

B. Data Retrieval and Analysis
C. Data Input

D. Data Acquisition

Choose the correct answer from the options given below:
1.AB.C.D
2.D.C.B.A
3.D,CA;B

4 A.D.C.B
Options :
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1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212310374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S3MsUd H ST & UHRHRU & SHIhbdl & Yol shH 3 UgdH &1 |

A. ST HBRT
B. ST U:UIGT 3R fq<eismr
C. Se1 3y
D. Sel 3HERIgu
+rd 6T U faeal H# U TPl IR Bl 994 BHIIU:

1.A,B,C,D

]

D,C, B, A
3.D,CAB

4.A,D,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212310375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following sequence of process is correct for conducting evaluation research?

A. Framing of evaluation objectives

B. Developing evaluation design

C. Dissemination of result

D. Data analysis and report writing

E. Terms of Reference and evaluation design

Choose the correct answer from the options given below:

1.E,B,A,C,D

(]

; BeBoA T €
3.3EEAB,C,D

4. E. A B, D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212310375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Helich-1 M SIS B Dl Uidhdl &1 (afeifad 9 o191 1 U8l 82

A. i Ie=4] DI IR HIAT

B. JId - AfUDHTT [ahiad H
C. URUTHI &1 T8R

D. Scl faayur 3R Ruie oRg-

E. e ek gelid SHUSH e Bi 2

i feu U f9dhedl ¥ 4 Ul 3R &1 994 BII:

Lo B B

]

A DE
3. EA B C.D

4. E.A, B, D, C
Options :
1.1
2.2
3.3
4.4
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Question Number : 106 Question Id : 34212310376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following combination of tribes and sates in India are correctly matched?

A. Mizoram — Khasi

B. Meghalaya — Jayantia

C. Assam — Boro

D. Andaman and Nicobar — Kuki
E. Odisha — Janwa

Choose the correct answer from the options given below:
1. A, B, Conly
2.B,C,Donly
3.C,D.E only

4. A, C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212310376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URd H SSaal 3R gl & FEfeRad 9§ 9 oY =g 981 U 4 gafed g2

A, THSIRH - @l

B. HYTY - SfadT

C. 3TH - dRI

D. 3SUM 3R F®ER - bl
E. 32T - SRaT

i feu U fasedl / 9 "l IR &1 98 DI
1.Pdd A, B, C

. $ddB.C,D

3. $HddC. D, E

4. HdA A, C,D

Options :
1.1

(]
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3.3
4.4

Question Number : 107 Question Id : 34212310377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are errors of coverage in age data in Census?

A. Under- enumeration of young children

B. Net-count at older ages

C. Under-enumeration at the early adult ages

D. A preference for ages ending with certain digits
E. Ages unknown or not stated

Choose the correct answer from the options given below:

1.A . B.Conly

]

.B, C,D only
3.C,D, E only

4.D, A, B only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212310377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafeRad d 9 S S § $-Sel & Gidierd &3 ©f I go

A. R S 69 - U

B. 3% 3 R 19 - U

C. URIHS D IY TR HH U

D. (14T il & Ty AT 31 & oy Ui

E. 3G 31 I1 9dTg 761 718
< feu U fdeedl # 9 Hgl IR &1 98 DI
1. HIA A, B, C
2. $ddAB,C.D
3. $9dC.D.E
4. 9D, A, B

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212310378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are non- parametric tests?

A. Chi square test

B. Fisher’s exact test
C. Mann Whitney test
D. T-test

E. Binomial test

Choose the correct answer from the options given below:

1. A, B, Conly
2.A,B,C,Donly
3.A,B,C.Eonly

4.B,C,D,E only

Options :
1.1
2.2
3.3
4.4
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Question Number : 108 Question Id : 34212310378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FgfiRad H 9 1Y TR-UAMNTT Ull&u g2

A. DTS- THT TRI&0

B. [heR &1 T 1% Wigu
C. 74 feg el wWigm

D. A1 - TEI&0

E. fgue udigom

i feu U fasedl / 9 "l IR &1 98 DI
1.Pdd A, B, C

. HdAA,B.C,D

3.$adA,B,C,E

4. $ddB,C,D,E

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 109 Question Id : 34212310379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In component method of population projection which of the following techniques are utilized for
the projection of fertility rates?

A. Period-Fertility Approach

B. Cohort- Fertility Approach

C. Marriage-Parity-Interval Progression Approach
D. Child-Women Ratio Approach

Choose the correct answer from the options given below:
1. A, B, Conly
2.B,C,Donly
3.A,C.D only

4. A.B.Donly

Options :
1.1
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2.2
3.3
4.4

Question Number : 109 Question Id : 34212310379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST UISiaR{ & g [afY H S-4- &Ha1 &3 & UieiaRH & ford Fafaiad § 9 S
ddH1d SUANT &1 SIdl g2

A. BT - S &TdT YN

B. GgU[ - 5 - &TdT SUNTH

c. [3a1g - JoudI - SaRT1e 3 H IUNTH
D. dTd - Afgal SuTd SURH

- feu e fadett # 9 Tt SR &1 944 SIS
1.Pdd A, B, C
2. $ddB,C.D
3. $Hdd A, C,D
4. PId A, B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212310380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct as regard to Census 2011 data on child sex ratio?

A. Haryana has the lowest child sex ratio

B. Punjab experienced an increase in child sex ratio during 2001-2011

C. Child sex ratio has improved in more than 10 states and UTs in India during 2001-2011
D. There is not a single state in India with child sex ratio favoring females

Choose the correct answer from the options given below:

1. A. B, C only

(]

.A.B,Donly
3.B.C,Donly

4. A, C,Donly
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Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212310380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 TeT 3UTd TR SHI0ET 2011 & Gae H FERId 5 9 Sy dua Jd g 12

A. SRAT0T &1 &1ed e 3urd Y HH g |

B. GuTTd H 9% 2001-2011 & IR oTef fefi 3rurd # 9feg g3 |

C. HRJ T 10 F 31 a1 3R G4 I &7 1 99 2001-2011 & SR d1d-feiTT 3gard o
YR g1

D. HRd ¥ Afgeafi & & o dre fefT surd arell U Wi I 481 g

- feu e fasett # 9 9t SR &1 904 SIS
1.Pdd A, B, C
2. HId A, B.D
3.$ddB.C.D
4. PIdA. C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212310381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following types of climate regions are usually thinly populated?

A. Middle latitude
B. Sub tropical
C. Arctic
D. Arid
E. Tropical
Choose the correct answer from the options given below

1. A. B, Conly
2.B,C,Donly
3.C,D,E only

4. A,C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212310381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fEfRId Saarg 431 O 9 S99 9 SF SYE drd g2

A. T &I
B. JUMIg
C. APhieH
D. IWiY

Ad 16U U fdedl U Tgl 3R &l 994 BHIoIu:
1. BIAA. B, C
2. $ddB,C. D
3. $ddC,D.E
4. HIAA.C.D

Options :
1.1
2.2
3.3
4.4
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Question Number : 112 Question Id : 34212310382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in the context of magnitude of unevenness in the
distribution of world population?

. Almost 90% of world population is found in the northern hemisphere.
. Two-thirds of global population lives on merely 5% of the land surface.

On@me

. Nearly two thirds of the world's population is concentrated within 500 kilometers of the
coasts.

Choose the correct answer from the options given below:
1. A, B, C, only
2.B,C,Donly
3.A. C,Donly

4. A.B.D only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212310382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{3y SERE & faaRul &1 [auAd & URHm & dey # Fafafad # 9 &0 & 9d 82

A 3% BT T 90% SHEEHT ITRT TS H U1S Sl g

B. &l fagTs 3y SRem had 5% Y Idg TR gl ¢

c. fay &1 3mefl ¥ e SA1Eel 9z Od U S| 200 Hiex ¥ &H & &7 H g gl
D. fay &1 TR &l A Ts S8 del ¥ 500 fhl & gt § Ydhigd g

- feu e fasett § 9 9gt SR &1 904 SIS
1.PdA A, B, C
2. $dd B, C,D
3. $Hdd A, C, D
4. BdA A, B, D

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 113 Question Id : 34212310383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following may be considered as the determinates of natural fertility?

A. Induced abortion

B. Lactational infecundability
C. Coital frequency

D. Sterelity

Choose the correct answer from the options given below:
1. A.B. C, only
2.B,C, D only
3.C.D, Aonly

4. A, B, C,Donly
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212310383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WIS -8 & (8RS & =9 H Fgiiiad § 9 $ A9 54 o 95d o2

- feu e fasett § 9 9gt SR &1 904 SIS
1.PdA A, B, C

. $ad B, C.D

3.$ddC, D, A

4. B9 A, B, C,D

Options :

]
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1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212310384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is basic underlying conditions and risk factors for CVDs ?

A. Malnutrition

B. Smoking and tobacco use
C. Stress

D. High blood pressure

E. Diabetes mellitus

Choose the correct answer from the options given below:

1. A.B.Conly

(]

.A,B,C,Donly
3.B.C.Donly

4.B,C,D,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212310384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafeRad § 9 Sl gediigd I (HidSh) & folt Agayuf 2d 3R Sikeq R g2

A. U

B. 49U 3R ddid Had
C.d |

D. 3= Iaqd

E. AYHg I
< feu U fdeedl # 9 Hgl IR &1 98 DI
1. HIA A, B, C
2. $Hdd A, B,C,D
3.%4dd B, C.D
4. $ddB,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212310385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following categories of factors are explained as the proximate determinates of child
survival in the Mosley-Chan Framework?

A. Environmental contamination
B. Economic factors

C. Maternal factors

D. Nutrient deficiency

E. Social status

Choose the correct answer from the options given below:

1. A, B. Conly
2.B,C,Donly
3.C, D, E only

4. A,C,Donly

Options :
1.1
2.2
3.3
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4.4

Question Number : 115 Question Id : 34212310385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AISTel - thAde H dlel - JTRuiliadl o Hbead! URe! & U H frafatad # 4 fea 4o
& HRD| DI ARHT B T3 82

A. JATaUIRT GguuT
B. Hfd HRD

C. 1 HRb

D. TIY0T LA

E. 9T Ry

i feu U fadmedl H ° Ugl 3R &1 98- DifIe:
1. Pad A, B, C

. $ad B, C, D

3.%ddC,D,E

4. HdA A, C,D

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 116 Question Id : 34212310386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following conditions are satisfied by a Standard Urban Area?

A. It should have a core town with a minimum population of 50,000.

B. It should have two or more physically contiguous town together with urban outgrowth. if
any.

C. The contiguous urban areas as well as rural administrative units should have a mutual socio-
economic link with the core.

D. The probability is that the entire area will get fully urbanized in a period of two or three
decades.

Choose the correct answer from the options given below:

1. A. B, Conly

]

.B, C, D only
3.A. C,Donly

4. A,B.Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212310386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U A R 8 1 Ffed 8 @ e 9 o g

A. 388 AT 50,000 B! SHGEAT ITell Uh g Hedl gHI dligU|

B. 398 R 3fugfes, afe s gl dl 3Ud WY &l A1 &l § 3H¥d Yifdd U U 4l s
Ud 1Y giH =gt

C. T TR &3 & Ty T YRS 31l & &g & 91y URERE 1SS -

e 974 g1 e
D. Wi dl Tg ¢ T &1 A1 di9 Sxdi &1 2aiy T Yyuf &5 31 aRg U R g e |

- fau T fashedl # 9 "l IR &1 70 DI
1.PIAA, B, C
2. $HdAB, C. D
3.$Hdd A, C. D
4. I A, B, D

Options :
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1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212310387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are sources of renewable energy?

. Natural gas

. Geothermal energy

. Nuclear energy

. Tidal energy

. Hydroelectric energy

HO Mo e

Choose the correct answer from the options given below:

1. A.B.Conly

(]

.B.D, E only
3.B.C.Donly

4. A.B.E only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212310387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafarad d 9 oY TdiHR0ig $ui & H@id g2

A. TThIdD 79
B. YU Sl
C. GRHET] Sl
D. SR FHall
E. Sdidggd Sl

< feu U fdeedl # 9 Hgl IR &1 98 DI
1. HIA A, B, C
2. Hdd B, D, E
3.%4dd B, C.D
4. P9 A, B, E

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212310388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are pot considered as the potential effects of climate change?

A. Depletion of ozone layer

B. Melting of glaciers

C. Rising sea levels

D. Change in earth's orbit

E. Increasing frequency of extreme events

Choose the correct answer from the options given below:

|. B and D only
2. Aand D only’
3. Aand C only

4. B and E only

Options :
1.1
2.2
3.3
4.4
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Question Number : 118 Question Id : 34212310388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeiRad d 9 S Siddrg 9Rkddd & GUed UHId 9g {14 Siid g2

A. ST TR BT &R0

B. [gAds! &1 fugd-n

C. 9% DI el TR d61

D. J2dl & URehdT - 7Y H gRdd
E. HIY0T 9131l &1 IRERdl dgHl

-4 fqu Y fadedl & 9 "l SR &1 99 BT
|.$dd B and D
2. Had Aand D"
3. Hdd Aand C
4. HAdBand E

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212310389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following input data are required to calculate Physical Quality of Life Index
(PQLI)?

A. Literacy Rate

B. Per capita income

C. Infant Mortality Rate
D. Life Expectancy

Choose the correct answer from the options given below:
1.A . B.Conly
2. A.B,Donly
3.B.C.Donly

4. A.C.Donly

Options :
1.1
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2.2
3.3
4.4

Question Number : 119 Question Id : 34212310389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Siia Gadbid &1 Hifdd uradl (UTaguasiis) B T8l & oy Fafaiad # U & 379e
ST BT HTGD T il g°

A HI&RdI a¥
B. Ufdaafdd amg

c.RYIAg R
D. Sild= YT

- feu e fasett # 9 9t SR &1 904 SIS
1.Pdd A, B, C

.Had A, B, D

3.$ddB.C.D

4. PIdA. C,D

Options :
1.1
2.2
3.3
4.4

]

Question Number : 120 Question Id : 34212310390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In which of the following dimensions, Gender Development Index reflects the inequalities
between men and women?

A. Life expectancy at birth
B. Political participation

C. Adult literacy rate

D. Gross enrolment ratio

E. Estimated earned income

Choose the correct answer from the options given below:

1.A,B,C,Donly

(]

.A,C,D, E only
3.B,C,D. E only

4. A,B,D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212310390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad & 9 & smamt 1 foi (S1s) fahr qaaie gy SR Afgarsii & did
M3 DT TEfRid H3d 82

A. O] QR S - UrLn
B. Y ﬁ:m?la H[ ia if|
C. 9D YI&RI G

D. Y& d AHIEG 3UId
E. 3Idied Hfoid 31

< fau g fdsedl # 9 Hgl IR &1 98 DIfoIT:
1.$dad A, B,C, D
2. $Had A, C, D, E
3. %4 B, C. D, E
4. Hdd A, B,D,E

Options :
1.1
2.2
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3.3
4.4

Question Number : 121 Question Id : 34212310391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Unmet Need of family planning considers:

A. Married and fecund women

B. Want to postpone their next birth for at least two more years
C. Do not want any more children

D. Not using method of contraception

E. Unwanted/ Mistimed pregnancy currently

Choose the correct answer from the options given below:

1. A and C only

]

.A. CandD only
3. A, B, C anmd D only

4. A,B.C.D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212310391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URaR 1o @1 3ol saRgadrai H 21 -

A. fad1fgd 3R dgusl afgan|

B. 3Tl 5 HH U &H &l 3R YIal & ou RIfTd a4 Bl 918 |
C. 3R A¥YF gl P! 918 ol

D. THRIY P B3, [ Iyt | 781 <l

E. 9dHM H 3418 / 3gHYg 14|

- feu e fadett # 9 9! SR &1 904 SIS
I.had AR C
2. BIA A, C 3R D
3.$ad A, B, C 3R D
4. $AT A, B,C,D 3R E
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212310392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the basic units of vector data used in GIS?

A. Points
B. Imageries
C. Lines
D. Polygones

Choose the correct answer from the options given below:

1.A.B. Conly

]

.A.C,Donly
3.B,C.Donly

4. A.B.D only
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212310392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SHMTETH (GIs) H 3TN gIH dTcl UG el i {ol izl HafaRad # I Sl g

A fdg
B. Y@I<A

C. @M
D. SgYS (UTferT)

< fau U faeedl # 9 Hgl IR &1 90 DT
1. BIAA. B, C
2. $Hdd A, C,D
3.%dd B, C.D
4. I A, B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212310393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following progarammes have been enlisted under Non-Communicable Disease
control programme of National Health Mission ?

A. National Oral Health Programme (NOHP)

B. National Mental Health Programme (NMHP)

C. National Leprosy Eradication Programme (NLEP)
D. National Tabaco Control Programme (NTCP)

E. National Programme for Palliative Care (NPPC)

Choose the correct answer from the options given below:

1. A.B,C.Donly

(]

.A.B,D. E only
3.B.D,E only

4. B, C,Donly
Options :
1.1
2.2
3.3
4.4
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Question Number : 123 Question Id : 34212310393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT - lgﬁ'%{ - I & 3ich1Td W LAV Hh Y & ded [Hafaiad § 9 S Hrihy

A. VT 7Y WY SAGH (T
B. IV AMRNIS WY SUEHH (TIUATIN)
C. P $F IHeH HIIHH (TS
D. IV 1 0 SRS (TSI
E. B IO AU HRIGH ()
A1 fGU U f[qdhedl | U Ug1 SR &1 994 DifeIg:
l.$hdd A, B.C.D
.$dd A, B,D.E
3. $ddB.D.E

4. $ddB.C.D

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 124 Question Id : 34212310394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are considered as ethical practices during data collection?

A. Informed consent

B. Financial incentives to compensate respondent's wage losses
C. Voluntary participation

D. Confidentiality

E. Non-maleficence

Choose the correct answer from the options given below:

1. A.B.Conly

(]

.A,B,C,Donly
3.A,C,D.E only

4.A.B,C.Donly
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212310394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafiRad | 9 Sl ST Y8 & aRME Afdd Ueidal A dl 82

A. giad ggald

B. 3R o drdl & AU gl 4oy gq fa<dia uidgH |
. Wi yrfleR

D. MU=l

E. BIiFRIgd

- feu e fasett # 9 9t SR &1 904 SIS
1.Pdd A, B, C

. HdAA,B,C,D

HAdd A, C,D,E

4. $AT A, B,C, D

Options :
1.1
2.2
3.3
4.4

]

LFS]

Question Number : 125 Question Id : 34212310395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Principles of Primary Health Care are:

A. Equitable distribution of services
B. Community participation

C. Safe water supply

D. Multi-sectoral approach

E. Appropriate use of technology

Choose the correct answer from the options given below:

1. A. B only

(]

.A. B, Conly
3.A,C,Donly

4. A,B.D,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212310395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y HS W GEHd & g 19 g2
A, T3 &1 3fd faaru

E. db-ih &1 3fdd Sa]

AId fu e fadedl 4 © g1 IR &1 99 Sl
l.hddA. B

.hAdd A, B, C

3. HAd A, C.D

4. HAd A, B, D, E

Options :
1.1
2.2
3.3
4.4
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Question Number : 126 Question Id : 34212310396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT
The quality of age data can be ascertained from the value of the Whipple's index as:

List I List IT
(Whipple's Index value) (Data Quality)
A | 175 and above 1 | Fairly accurate

105 - less than 110| II. | Not accurate

B
C. |125-less than 175 | III. | Highly inaccurate
D

110- less than 123 | IV. | Moderate

Choose the correct answer from the options given below:

1. A-1, B-II, C-IIL, D-IV

]

. A-1I, B-III, C-IV, D-1
3. A-IIT, B-L, C-11, D-IV

4. A-IV. B-1, C-1I, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212310396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gl 1 Y gt 11 1 FAaH Hiford

fegUcd Qddid & HIF Y ST Dl 0ET b1 Il ST Sl bl ¢

I II
mﬁ@mmm @ﬂﬁm
A [175 3R TP L |ddue 9dte
B. [105-110 §&H 1L |&die a8l
c. [125-1758%9 | m |dpagdf ode
D. [110- 1259 ®H | IV. |9YR
I fau U fddhedl @ ° Fel SR &l 994 Bl

1. A-L B-IL C-IIL, D-IV

]

. A-IIL B-III, C-1IV, D-I

3. A B-1, C-I1, D-IV

4. A-IV, B-1, C-1I, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212310397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

LISTI LISTII
(Sources of Data) (Indicators)
A | Census I. | Unemployment
B. |N55 II. |Birth and Death Rates
C. |5RS ITT. | Reproductive Health
D. | NFHS IV. | Total Population

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III

2. A-IV, B-III, C-II, D-I

3. A-IV, B-II, C-III, D-I

4. A-IV, B-II, C-1, D-III

Options :
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1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212310397 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

At 1D 1Y T 11 BT THAHA DifoY

I 11
o | o
A | SO 1 | SR
B. |vqumug I |59 R I
C. |TgsRTH M1 | Ao+ Wy
D |tiumuEwd | v Sl SaEEn
A feu U fddhedl H U He! SR &I 99 DifIT:

1

]

. A-IV, B-1, C-II, D-III

- A-IV, B-1II, C-1I, D-1

ATV, B-11, C-1II, D-1

4. A1V, B-11, C-1, D-III

Options :

1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212310398 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match List T with List IT

LISTI LISTII
(Authors) (Title of Book)
J. T. Marten I. |Census of India, 1921

Kingslev Davis | II. |Population of India and Pakistan

Malthus III. | An Essav on Principles of Population
Gyan Chand IV, |India's Teeming Million

olo|w|=

Choose the correct answer from the options given below:

1. A-1V, B-11I, C-1, D-II

]

. A-II, B-IV, C-II1, D-1
3. A B-11, C-I, D-IV

4. A-1, B-I, C-1II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212310398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gl 1 91 gt 11 1 e difore

e e

A |9 & ada I | 4Rd & S0 1921
B. |fhodefge | 0. |vRd 3R uifteed™ & S0l
¢ |Afg 1L |S74E & fOgdl R TE ey
D. |9 TG v, | Sfean S fifeaa

i fau U f9shedl # 4 Jet 3R &l 999 DI

1. A-IV, B-1II, C-I, D-TT

]

. A-II, B-1V, C-II1, D-1

3. A-IIL B-IL C-I, D-IV

4. A-1 B-1I, C-III, D-IV

Options :
1.1
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Question Number : 129 Question Id : 34212310399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

LISTI LISTIO
(Population size) (Year)

World's 4 billion population | I. |2000

World's 3 billion population II. |1999
World's 6 billion population | IIT. | 1974

olo|w|»

India's first billion population| IV. | 1987

Choose the correct answer from the options given below:

1. A-II, B-III, C-IV, D-1I

]

. A-IV, B-1II, C-11, D-IV

3. A-L B-1I, C-1II, D-IV

4. A-III, B-IV, C-1I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212310399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 134/160



8/31/24, 10:31 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

gET 1 Y gt 11 1 e Hifor

T 1 TE I
(ST HTHTY) @
A |Gy PIoTd=T4 3Ra| L | 2000
B. |[9% & 9 8ET 5 3Rg| 1L | 1999
C. |13y &1 598w 6 3Ra| 11 | 1974
D. |[9% &1 9% 6 3Rg| IV. | 1987

i feu U fgshedl H U gt 3R &l 999 HIvL:

1. A-II, B-III, C-IV, D-1

]

. A-IV, BIL C-IL, D-IV
3. A-L, B-IL, C-III, D-IV

4. A-111, B-1V, C-11, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212310400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List T with List IT

LISTI LISTII
(Index name) (Notation)
Index of overall fertility il ]g
Index of Marital fertility II. |If

Index of non-marital fertility | 1II. | Ly

ola|w|s

Index of proportion married | IV. |1y

Choose the correct answer from the options given below:

1. A-1, B-1I, C-III, D-IV

]

. A-IL, B-1, C-IV, D-III

3. A-1IV, B-11, C-111, D-1

4. A-1, B-11I, C-11, D-IV
Options :
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1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212310400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 1D 1Y T 11 BT THAHA DifoY
HUf S - & gIP D L %
dallgd o4 - sHdT gadid | 1L |1
Hidafgd o - &Hd gabid | 1L |In
faanfed S Yamie v (L

AT fou U fadedl # U It 3R &l 994 HIfL:

1. A-I, B-II, C-1II, D-IV

ola|lw|»

2. A-1L, B-1, C-1V, D-1II
3. A-1IV, B-II, C-III, D-1

4. A-1, B-II1, C-11, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212310401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-TT

LISTI LISTII
(Fertility Theory) (Name of scientist)
Social Capillarity Theory I | Kingslay Davis
Theory of Change and Response II. |Leibenstein

Theory of Diffusion or Cultural Lag| III. | Dumont

olo|w|e

Demand Theory of Fertility IV | Gosta Carlsson

Choose the correct answer from the options given below:

1. A-1, B-1II, C-IV, D-II

]

. A-IL BIIL C-I D-IV
3. A-IIL B-1, C-IV, D-II

4. A-IV, B-1III, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212310401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gt 1 9T gt 11 1 e difore

I T
(& & RrEi) @wg;m
HHTo® Hilda [HEGid 1 |feaa sfag

gitaaH 3R ufasar & st I |feaws
faTxo a1 witelae vy &1 fg[ | 1L [sgHe
feats @it sme wmefefad IV. |72l e

i feu U fashedl # U Jgt 3R &l 999 DI

1. A-I, B-III, C-IV, D-II

olo|w|s

]

. A-II, B-IIT, C-1, D-IV

3. A B-1, C-IV, D-II

4. A-IV, B-1I, C-II, D-I

Options :
1.1
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3.3
4.4

Question Number : 132 Question Id : 34212310402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-I1

LISTI LISTII
{(Theory and Technigues) (Name of Proponent)
A |Regional Model Life Table I. |Hajnal
B. | Singulate Mean Age at Marriage | II. | Brass
C. | Theory of Stable Population III. |Lotka
D. | P'F Ratio method IV. | Coale-Demnev

Choose the correct answer from the options given below:

1. A-IV, B-1, C-III, D-TI

]

.A-1, B-III, C-I1, D-IV

5]

. A-IL, B-IV, C-1I1, D-1

4. A-1, B-IV, C-II1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212310402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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el 1 T gt 11 1 FAaH difor

Fi i

T 11

@fauTEs %1 9mM)

A. | &P Higd Hoilg IRl L |gea

B. |f4dre &1 A1 99 (e /1 U | 1. 9™

C. | 3R S¥Em @1 faEid 1L | e

D. |P/F U fafd IV. | ®ic- a1

Hid U U f[d@eul § U I8t 3R &1 999 B [oIu:

1. A-IV, B-1, C-III, D-II

]

LS

. A-I, B-III, C-II, D-IV

. A-II, B-1V, C-II1, D-1

4. A-1, B-1V, C-III, D-IT

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212310403 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-I1

LISTI LISTII
(Life Table Function) (Defination)
A |aly I. |Life expectancy bevond age x
B. |n%x II. |Person- vears lived bevond age x
C. | Tx III. | Person-vears lived between age x and x+n
D |ex IV. | Probality of dving between age x and x +n

Choose the correct answer from the options given below:

1. A-L, B-II, C-IIL, D-IV

]

. A-111, B-1V, C-11, D-I

3. A-IL B-III, C-IV, D-1

4. A-1IV, B-1II, C-1II, D-I

Options :
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1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212310403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 1D 1Y T 11 BT FHAH DIy

1 (;Em
(Sfte FRuft wT) yT)
A [alx L |3 x ¥ Hftd Siia- yarn
B. |n% IL |31 » ¥ e Sifad T8 oafdd - 9
o i 1L | 3T x 3R x+» & & Siifdd Yo odiad - a¥
D. |ex IV. |3 x 3R x +n S 7R DI WG

A feu U fashedl ¥ U It 3R &l 999 DIvL:

1. A-I, B-II, C-III, D-IV

]

CA-IILL B-IV, C-I1, D-1

3. A1l B-III, C-1V, D-1

4. A-IV, B-111, C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212310404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-TI with List-TT
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LISTI
(Theorv/Model of
Migoation)

LISTII
(Statement)

Migration decisions are made not only by isolated people but also by

A | Ravenstein it S
larger units of related people
Migration from rural to urban area depends on the difference 1n wages
B. |Lee IL 2 =
between rural and vrban labour market
C. | Todaro ITI. | Most migrants travel short distances
D. B HO?EEthd IV, | Intervening obstacls like distance may prevent or reduce migration
Economics

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

(]

AL B-II, C-IV, D-I

3. AL B-1IV, C-11, D-1

4. A, B-1, C-I1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212310404 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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gET 1 Y gt 11 1 e Hifor

T 1 Tt
(WaT FT g "

A @YU
A |lsmes ;| e i =1 A gue cfge gR o S € Siem SeiEd @ @t
' SRR AR R EREInE

OOl Y TR &A1 wa g SR TR 9H SR H Jegd &
B |dl I s mmk sz
| eTert 111 | ffErereR wardl & gl O wild o
D. |99 URaR @ | IV, | gd SIeft S1e1d Uare &1 I 91 HH B 9l 6.
i feu U fadhed! | U 91 STk &1 994 DifelC:

1. A-1, B-1I, C-III, D-IV

]

- A-IL B-1IT, C-1IV, D-I
3. A-1ll, B-IV, C-II, D-1

4. A-111, B-1, C-11, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212310405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-TT
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LISTI LISTII
(Theory) (Proponent)
A | Central Place Theorv I. |Homer Hovt
B. | Concentric Zone Theory| II. |E. Burgess
C. |Multple Nuclei Theory | IIL. | W. Christaller
D. | Sector Model IV. | Harris and Ullman

Choose the correct answer from the options given below:

1. A-1, B-1II, C-IV, D-II

]

. A-1II, B-11, C-1IV, D-1

3. A-IL B-III, C-IV, D-1

4. A-1, B-III, C-1I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212310405 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks :

0

Gl 1 91 gt 11 1 e difore

T
(Faegia)

g

Hgm M fasd

B EUe

Haipd &7 Eid

II.

3 Filg

9% da® [9Eid

I

gy, fheaR

ola|w|

& (TaeY) "isd

IV.

R 3R SaAH

A 16U U f[9edl § U Igt 3R &1 999 B

1. A-I, B-III, C-IV, D-II

[

- A-IIT B-I1, C-1IV, D-I

3. A-II, B-III, C-1V, D-1

4. A-1, B-1II, C-I1, D-IV

Options :
1.1
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3.3
4.4

Question Number : 136 Question Id : 34212310406 Question Type : MCQ Option Shuffling : No

g28.digialm.com/CAE/viewHtmIPDFAction.action

Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-I1

LISTI LISTII
(SDG Goal No) (Description)
A |SDG-3 I. | Sustainable cities and communities
B. |SDG-3 II. | Affordable and clean energy
C. |SDG-7 [T | Gender equality
D. |SDG-11 IV. | Good health and well being

Choose the correct answer from the options given below:

1. A-I B-II, C-III, D-IV

]

. A-IV, B-I1I, C-II, D-I

3. AL B-III, C-IL, D-IV

4. A-II, B-III, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212310406 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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gET 1 Y gt 11 1 e Hifor

o s
3

THEleil- L |YRUY TR 3R Gg&™

. |98 &3 O 3R W=8 ol
Tgalei.7 111 | f&T (eise) 99
TSl | IV, | S R AR dal

Hid U U f[d@eul § U I8t 3R &1 999 B [oIu:

I. A-I, B-II, C-III, D-IV

ola|w|e

]

. A-IV, B-II, C-II, D-I

3. AL B-IIIL C-II, D-IV

4. A-II, B-III, C-IV, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212310407 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-I1

LISTI LISTII
(Launch of Programmes) (Year of Launch)
A |Launch of ICDS scheme I. 11997
B. |Launch of Child Survival and Safe Motherhood (CS5M) Programme | II. | 1973
C. |Launch of Reproductive and Child Health Programme IIT. | 1992
D. | Universal Immunisation Programme I'V. | 1985

Choose the correct answer from the options given below:

1. A-IIT, B-II, C-VI, D-1

]

. A-IIL B-1II, C-1V, D-I

3. A-1l, B-II, C-1, D-IV

4. A-II1, B-1I, C-1, D-IV

Options :
1.1
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Question Number : 137 Question Id : 34212310407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 1D 1Y T 11 BT FHAH DIy

@rdwﬁﬁa;mm {nm{%;ﬂ#]%:aﬁ)
A |3 T ST uH O ST URY 1 |1997
B. |91 IeReiddl AR Higed (SUUUHUH) HAEHH I ARH| 1L [ 1975
C. | WA AR 91 WY HIUHH BT URY III. | 1992
D. |94 - WaRE S &1 3RH V. | 1985

i U U f[ddeal # U 95t 3R &1 999 B

1. A-III, B-1I, C-VI, D-1

S

- A-II, B-1I1, C-1IV, D-1

3. A-II, B-III, C-I, D-IV

4. A-1II, B-11, C-1, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212310408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-TT

LISTI LISTII
(Health Committees) (Recommendations)
Bhore Commuittee I | One Primary Health Center for 40,000 population
Mudaliar Committee IT. | Multi-purpose worker scheme

Kartar Singh Committee | III. | Family planning field worker

olo|w|e

Chaddha Committee IV. | Three tier health system

Choose the correct answer from the options given below:

1. A-1IV, B-1, C-III, D-II

]

. A-TV, B-1I, C-1lI, D-1
3. A- IV, B-1II, C-1I, D-1

4. A-IV, B-1, C-1II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212310408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gl 1 91 gt 11 1 e difore

m@l | (@_ll

R afifa 1 40,000 SFHERT & forU miufis W= g
II. |95 - S5 WRYDHT Gl
HYAR g gfafg | m. |ufer Free & wbf

Tgel giHfd IV. | FEReRiT ey o

A 16U U f[9edl § U Igt 3R &1 999 B

1. A-IV, B-1, C-III, D-TI

el
%

[

. A-1V, B-11, C-1II, D-1
3. A-IV, B-III, C-II, D-1

4. A-IV, B-1, C-II, D-III

Options :
1.1
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Question Number : 139 Question Id : 34212310409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-I1

LISTI
; : LISTII
(Techniques of economic (e s Tedhangany
Evaluation) 3 4
A | Cost minimization analysis | I | Cost of intervention with outcomes of intervention is compared
: Alternative interventions are compared in terms of cost per
B. | Cost benefit analysis 11 I i > P P
s QALYs gained
; . y Monetary value of intervention 1s compared with monetary value
C. | Cost effectiveness analysis | IIT. |~ . 3 -
: of health outcomes
D. | Cost utility analysis IV. | Compare monetary value of alternatrve giving identical outcomes

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-I, D-TI

(]

. A-IV, B-II, C-II, D-I

3. A-IIL, B-IV, C-11, D-1

4. A-IIT, B-IV, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212310409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

148/160



8/31/24,10:31 PM

g28.digialm.com/CAE/viewHtmIPDFAction.action

gET 1 Y gt 11 1 e Hifor

g |

@i qegieT i .

A % Tl 1. |e%8Y & TG % T1Y SAT & UROTH BT go @ Skl 8
Iicud Sl &1 Uid Wk T 71T T[Uial QAT Sig-are

B |G A RSO | 1L | correrans) 3 el o @ it B
ATl & M g o Wy TR & Hifas Teg § ga- &

C. |TrFd uyE@@iear | 0L T2

D. %ﬂt E IV. |geme gfiomd o ard faael & Hifss 9o & gal

Hd 16U U f[ddeul § U Igt 3R &1 999 DIoIg:

1. A-IV, B-1II, C-I, D-TI

(]

. A-IV, B-II, C-II, D-I

LF¥]

. A-IILL B-IV, C-11, D-I

4. A-III, B-1IV, C-1, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212310410 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-TI with List-TT

LISTI LISTII
(Planning Process) (Description)
A | Planning I | Assessing activities
B. | Supervision II. | Assessing staff performance
C. |Monitoring ITI. | Translate policies into actions
D. | Evaluation IV, | Assessing whole Project / Programme

Choose the correct answer from the options given below:

1. A-II1, B-1I, C-1, D-IV

]

. A-1II, B-11, C-1IV, D-1

3. A-IIL B-IV, C-I1, D-I

4. A-IIL, B-IV, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212310410 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Gl 1 91 gt 11 1 e difore

(Frare= ufssam

1

‘ggb

A |FEeH L e Sdday

B. |uddam I | &6 HueA

c | 11 | Ffiferl &1 sl & gRafdd &

D. |qeaidA IV. | <l ufedisHT / S @1 fidba- bl

i feu 71U famedl | U I8t IR &1 994 Hife:

1. A-IIL, B-IL, C-L, D-IV

]

- A-IIT B-I1, C-TIV, D-I

3. A-IIL B-IV, C-I1, D-1

4. A-IIL, B-IV, C-1, D-II

Options :
1.1
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2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 342123409
Question Shuffling Allowed : No

Question Id : 34212310411 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the following passage and answer the questions.

The health impacts of micronutrient deficiency are not always acutely visible. Micronutrient
deficiencies causing poor physical and mental development in children, mental retardation,
blindness, anemia etc. Anemia is correlated to higher occurrence of prematurity and low birth
weight new borns. The vicious cycle of anemia and its consequences contribute to higher IMR
and MMR. A host of sociocultural and gender norms play against the nutrition agenda. Early
marriage, teenage pregnancy, and early child bearing increases the risk of low birth weight babies
that perpetuate the life-cycle of undernutrition.

Community demand for nutrition programmes remain low. As communities struggle to make
ends meet, issues around livelihood take higher priority, leaving nutrition and health of young
child a distant agenda. The public health nutrition plays a crucial role improving the nutrition
outcomes in most vulnerable populations.

Sub questions

Question Number : 141 Question Id : 34212310412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The higher occurrence of prematurity and low birth weight new borns is correlated to:

|. Socio-cultural and norms

(]

. Anemia

[975]

. Low demand of public health nutrition programme

4. Low priority to nutrition in agenda of health department

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212310413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is not the health impact of micronutrient deficiency?

1. Poor evesight

(]

. Poor physical and mental development
3. Mental retardation

4. Anemia
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212310414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The high IMR and MMR in vulnerable population is due to vicious cycle of:

1. Lack of public health nutrition programme

(]

. Social and gender norms
3. Early marriage and child birth

4. Anemia and consequences

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212310415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The nutrition and health of a young child becomes distant agenda due to:

. Communities struggle to make ends meet

3

. Public health nutrition is not government priority
3. Low literacy among vulnerable population

4. Sociocultural and gender norms among vulnerable population

Options :
1.1
2.2
3.3
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4.4

Question Number : 145 Question Id : 34212310416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The risk of low birth weight babies increase due to.

1. Poor nutrition intake during pregnancy
2. Anemia among women
3. Early marriage, teenage pregnancy

4. Low awareness about care during pregnancy among vulnerable communities

Options :
1.1
2.2
3.3
4.4

Question Id : 34212310411 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

YYD — I 3Hedl” BT W TR 38R U digdl 9 Udhe Aol 8id ¢ | G&HUND dal S
3edl ddf § geld WURIRSG 3R AHRS fdhm, de-dfee, furuH, T 3¢ o1 dRo
91 €1 THAYd S o d1d Sl 3R $H 99 & Tdlial di 3Hied G & THiar g
g 31 T 3R 39S e9HTEl BT $db I ASUHSNR SR THTASR H TNTEH $dl
S| HINS —TRpidd R &1 AHds givu Tels] & fa=eg Yt Furd g1 &1 g o
faarg, fh2IR 3@ ¥ THYRUT 3R &H 3Y § §= gH U Fdulldl &l 9o HH g4 BT Gl
¢ I1d1 g ol 3(T-UIN0 Siid-dsh H1aH SR adl gl

OIYUT SRIhHT & el Hif 9 381 § 1 ToIRI SR & o0 Juy $Hd ggedi o Sifdd 9
oS Gel B 3= UTAiHdhdr gl § SR RI=1ei & N0 3R WRY Uh a3 Telsl 3g Sl ¢
- SaR-UINU] G4 goid Sf1aTel § Ty Fdiell & GUR- § Hgayul YT HuTdr g

Sub questions

Question Number : 141 Question Id : 34212310412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gﬂﬂqﬁﬁlﬂéﬁaﬁqﬁisﬁ?w o & AauIdl Bl S T 9 | U fhad geuaid
L. AT - FRpice R o ards
2. T

3. Q-G UNU] ®RichH &l {5 HiTT|
4. WY TGUTT & TolST | YN0l &l 9 Ui

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212310413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YUY el BT WY R R Fgieiad 0 3 @& Hgi g
1. Gad EP
2. gad YRIRG IR AHERS [dhr™
3. He gfiq
4. AT

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212310414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gad Tl H 3= SMEUHSR 3R THUASR &1 HRUI -89 § ¥ {69 &1 $a o2
1. AT B H H HH|
2. 1S 3R fefiT ArFE S|
3. D Y ¥ fddig 3R dd &1 54|

4. TATHAT 3R 296 gHHE|
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212310415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Rl &1 TN SR WY 9 4 9 [hgd HRUI I Usis] 99 Sld 57
.U TSRT B & et Gy did g |

. I -TaRY-UTYU] TR B YU fHbdl 781 5 |

. god SMd1dl Yugh T 3eq HieRdT|

4. Gad MEICHl H A6 -Tididd 3R {1 aHes |

Options :
1.1
2.2
3.3
4.4

[a—

]

[975]

Question Number : 145 Question Id : 34212310416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AdulId] Dl o & Y8 HH doi- P Wl [HEiRad H ¥ fddd R F6dl g7
L. 1Y & QR 31T Uiyoy gl

Higersil § wAfi)
3. D A ¥ fqdrg. [hIRIaw1 1 MR
4. gdd 9l § M & SR QU & IR T HF SRl |

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 342123410
Question Shuffling Allowed : No

]

Question Id : 34212310417 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Statistical profile of persons with disability: All India (in percent)

P ity Rural Urban Total
i nls Male | Female | Persons | Male | Female | Persons | Male | Female | Persons
Anv type of disabality 2.6 2.0 23 2.1 1.8 2.0 2.4 1.9 232
Locomotor disability 1.6 1.2 14 1.3 1.2 1.3 1.5 12 14
Visual disability 0.3 0.3 0.3 0.2 0.2 0.2 0.2 0.2 02
Hearing disability 03 0.3 0.3 0.2 0.2 0.2 0.3 0.3 0.3
Speech and language disability 03 0.2 0.2 0.2 0.2 0.2 02 0.2 02
I'\.-_Ientgl_ rv?tardatmn intellectual 02 01 0.2 0.2 01 0.2 02 01 0.2
disability
Mental illness 0.2 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
Other tvpe of disability 0.1 0.0 0.0 0.1 0.1 0.1 0.1 0.0 0.1
Disability since birth 208 288 294 276 23.1 256 292 272 283
Dhisability who are living alone 2.0 5.0 32 43 5.6 48 26 5.2 37
Lty hawag ceralicee of 317 | 243 | 286 |344 | 236 | 296 |324| 241 28.8
disability
Source: Ministry of Statistics and Programme Implementation, Govt of India, Persons with Disability (Divyangjan) in India- A
Statistical Profile:2021, P-43
Sub questions
Question Number : 146 Question Id : 34212310418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
What is the percentage difference of male-female disability since birth in rural India?
1. 1.3%
2. 1.0%
3.1.2%
4. 1.4%
Options :
1.1
2.2
3.3
4.4
Question Number : 147 Question Id : 34212310419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
The visual disability percentage among urban females is:
1. Higher than rural females
2. Less than rural females
3. Not same as urban males
4. Is not same as the total urban and rural persons taken together
Options :
156/160
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1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212310420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage of disability among urban females who are living alone?

l. 5.6%

(]
L
]
=]

4.3.7%
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212310421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage of total disable persons (male +female) in India having certificate of

disability?

1.28.6%

(]

. 28.8%

3.29.6%

4. 32.4%

Options :
1. 1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212310422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the difference of hearing disability between rural males and rural females?

1.1

12
f

4.0
Options :
1.1
2.2
3.3
4.4

0%

.00%

Question Id : 34212310417 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question
Question

Numbers : (146 to 150)
Label : Comprehension

Tl &1 TiReT®! UhIsd : 3Rad YR (Ufawrd H)

i Ao el gl

U3y | Higdl | ©d | U3W | Algdl | $d | §EU | diedl | $d
fardl UenT i feogivrdi 76 [ 20 (23| 21| 18 |20 |24 19 [ 22
TTfq fauge feeairar 165 | 12 | talas | 2 |38 |35 | 12 | ©4
GEEIEE 03] 03 0302 02 [02]02] 02 [o02
Yau] FIed 03| 03 03|02 02 o203 | 03 |03
aTeh 31X YT§T fegiiTehdl 03] 02 [02]02] 02 203 02 |02
AFR®s Agal iR dfgd fgaam@edr | 02 | 01 |02 02 | o1 |02 ] 02| 01 [o02
qHEE EA0d 02 o1 [o1fo1] o1 o101 01 |01
3 P | feeditTad] 01| 00 [oofo1] 01 o101 00 |01
o4 4 fgai@a 208 | 288 [204| 276 231 [256| 202 272 283
TGoTe & AU e e 6 20| 50 [ 32|43 56 [ 48|26 52 |37
feooTar yHUO TES AT feemer | 317 | 243 [ 286344 236 (206|324 241 [288

. TS| AR BHH H1E-aa HATed, YD SRBR, R H [GaaiTad 9! WheEd 2021, 8 43

Sub questions

Question Number : 146 Question Id : 34212310418 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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U0 YR © 570 U I8N - Higdl fGoaiTTdl BT Uid=id 3fak &1 g2

1. 1.3%

]

. 1.0%
3.1.2%

4. 1.4%

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212310419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e Higarsl! | =¥ Siied G g:
L. IO Afgersi U sffed
2. grH o] Afgarsii 9 $H

3. 26 TR & SRIR el
4. YT 2 3R AT ART &b U 1Y SIS & aRTeR Aol

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212310420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

bl Yg- drcll sl Afgarsi # faaaiTal &1 ufdeid &1 g2

1. 5.6%

2
L ]
2

o

5]

. 5.0%

4.3.7%

Options :
1.1
2.2
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3.3
4.4

Question Number : 149 Question Id : 34212310421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R | o Tdl TH10TUE TG+ d1d o fGoaiiTeii (N + Higell) &1 Uid=id &1 82

1. 28.6%

]

. 28.8%
3. 29.6%

4.32.4%

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212310422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o oy 3R Ardior Afgarsil § 4qur J1ferd &1 $for a1 g2

1. 1.0%

=
<
A
(=]
(=]

4. 0.00%

Options :
1.1
2.2
3.3
4.4
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